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Chapter 0

Three Teasers

0.1 Abstract Algebra

Rotate a book 90° clockwise about an upward axis and then 90° clockwise about
a leftward axis. Repeat the rotations in the reverse order and the book ends in
a different orientation, as in Fig. [0.1] Symbolically,

RiRy # RoRy. (0.1)

What kind of numbers can represent rotations that don’t commute?

| Tmﬁ ¢
| < =

Figure 0.1: Finite rotations do not commute.
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0.2 Fourier Analysis
Consider the motion of an ideal string fixed at both ends, like a guitar string.

Musically, the string’s motion is well-known to be a superposition of sinusoidal
normal modes called harmonics. Symbolically,

yla,t] = Z ap Sin[2wx /Ay ] sin[27 £, t]. (0.2)

Yet the motion consists of a line segment bouncing back-and-forth inside a
parallelogram envelope, as in Fig. (0.2l How can the harmonics synthesize this
kinked motion and with what amplitudes?

Figure 0.2: Sinusoidal normal modes synthesize kinked string dynamics.
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0.3 Differential Equations

Suppose water in a bucket increases at a rate equal to the cube root of water
already there. If the bucket begins empty, then symbolically

d 1
SV =V /3, (0.3a)

V[o] = 0. (0.3b)

This initial value problem has two easily-checked solutions

3/
Vit] = (;)3 2t3/2, (0.4a)
V[t] = 0. (0.4b)

How can the bucket both remain empty and fill with water? How can this
evolution be nonunique?

V]

Figure 0.3: Evolution of water in the bucket has an ambiguous future.
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Chapter 1

Complex Numbers

Complex numbers complete real numbers.

Figure 1.1: Ilustrating the fundamental theorem of algebra, peaks represent 4
complex roots of the 4th-order polynomial equation fi.[z] = kz* + 2+ 1 =0 for
two different values of the parameter k, where z = x + 4y and x and y are real.

1.1 Euler’s Identity

The algebraic equation 2 + 1 = 0 has no real solutions. Imagine that it has
solutions +2. Leverage these imaginary solutions to prove the fundamental
theorem of algebra: an nth order polynomial has exactly n roots, as illus-
trated by Fig. The beauty of this result convinced mathematicians of the
utility of imaginary numbers.

By successive multiplication, the imaginary number ¢ satisfies

i? =1, (1.1a)
i3 = —i, (1.1b)
it =41, (1.1c)
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%= +i (1.1d)
i® =1, (1.1e)
and so on in a 4-cycle. Hence the absolutely convergent Taylor expansions of

common functions, as in Fig. dramatically reorganize when evaluated at
imaginary numbers. For example, the exponential

(iz)?  (i2)* (0 ()  (i2)°  (i0)"  (ix)"

S TR 41 5! 6! 7l T
.’1}2 1‘3 .734 335 .776 I‘7 .1’8
TR TR TR T T T

1,2 .754 .TJ6 .7,‘8 1,3 I5 I7
:<12'+4'6'+8')+1($—3'+5'—7'+>

= cosz + isinz, (1.2)

becomes a linear superposition of sinusoids known as Euler’s identity. The
choice x = 7 generates the famously beautiful special case

e+ 1=0, (1.3)

which relates the five most important mathematical constants e,z,7,1,0 in a
simple formula.

2
sin x t
1 3
Y]
3 5
0 T
SETIRA
.’L'3 .’L'5 II?7
- R T
1,3 1,5 1‘7 IQ
) 7{ —I—§+—' ?—Fy

STERY

X

Figure 1.2: Convergent power series approximations to a sine, where the darker
curves include more terms.

1.2 2D Division Algebra

A general complex number is the linear combination

z=zr+zri=x+ iy ={z,y}, (1.4)
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where the real and imaginary components x = zr and y = z; are real numbers.
The product of two complex numbers

zz' = (x +iy)(2’ +iy) = v’ —yy' +i(ya’ + zy’) (1.5)
is another complex number. A complex number’s conjugate

*

Zr=Z=x—1y (1.6)

negates the imaginary part, so the norm

|z| = Vzz*r = /a2 + 12 (1.7)

is the square root of the product with the conjugate, and the inverse

*
1 z
Z = — ]..8
P -
is the conjugate divided by the norm squared. The inverse enables complex
number division, such as

!/

o tiy altay w—dy  dlrtyly ay —aly

- = = - — = +1 . 1.9
z T+ Yy T4y T—1Y x2+y2 x2+y2 ( )
2
/2
Z
1 ‘ /
iz
/ Yy \
o 0
' .
1 1/2%; .
-2
-2 -1 0 1 2

Figure 1.3: Complex number z = re?® = x + iy = {x, y}. Unit disk is yellow.

1.3 2D Rotations

In the complex plane z = {z,y}, a complex numbers has the polar represen-
tation .
z=gx+iy=rcosf+irsinf = re? (1.10)
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using Euler’s identity, where r = |z| is the modulus and 6 is its phase. The
polar presentation illustrates how complex numbers can model two dimensional
rotations. For example, multiplying a complex number by e*¥ rotates it through

an angle 6,

2 = 26" = retfel? = rel019), (1.11)

Multiplying by i = e*™/2 rotates a complex number through = /2 = 90° counter
clockwise, as illustrated in Fig. Multiplying by e*™ rotates a complex num-
ber through 180°, which when applied to +1 produces —1, thereby providing a
geometric interpretation of Euler’s Eq. identity.

1.4 Trigonometric Identities

Complex numbers facilitate the derivation of useful trigonometric identities. For
real angle a € R, if z = €'* € C, then

1=z]? = 22" = e @
= (cosa + tsina)(cosa — isina)

= cos?a +sin’a. (1.12)
For real angles a,b € R,
ei(aer) _ eiaeib7
cos[a + b] + isinfa + b] = (cosa + isina)(cos b + i sin b)

= cosacosb —sinasinb + i(sina cosb + cos asin b),
(1.13)

so equating real and imaginary parts generates two addition angle formulas at
once,

cos[a 4+ b] = cosacosb — sinasinb, (1.14a)
sinfa + b] = sina cosb + cos a sin b. (1.14b)
Setting a = b generates two double angle formulas,
cos[2a] = cos® a — sin? a, (1.15a)
sin[2a] = 2sina cosa. (1.15Db)

1.5 Complex Functions

Complex functions map complex numbers to complex numbers. Given the com-
plex number z = x + iy = re*’, the complex function

flz] =~ (1.16)
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generates the rectangular map

{z,y} = {9} (1.17)

and the polar map

{r,0} — {r',0'}. (1.18)

Such mappings are best visualized in 4D. However, plotting the real part x’
vertically and coloring the resulting surface by the imaginary part 3’ produces
a faithful 3D visualization, as in the Fig. plot of the square root function.

—

-

Figure 1.4: Visualize the complex square root function 2’ = y/z by plotting its
real part x’ vertically and coloring the resulting surface by its imaginary part
y’. The two branches of the Riemann surface correspond to the positive and
negative real square roots.

More generally, since each complex number has infinitely many polar repre-

sentations
z = ret? = pet0+2m) — peil0+b2m) (1.19)

for any integers b, then its nth root

Zl/n — Tl/nei(0+b27r)/n _ rl/neiO/neibQﬂ/n (120)
has n distinct values or branches for b =0,1,2,...,n — 1.

Complex functions map a complex number to a set of complex numbers in
a multivalued relation described by 2D Riemann surfaces in 4D space, as
in the 3D projections of Fig. and Fig. Differing colors at the 3D self-
intersections imply no self-intersections in 4D. Define a principle value of a
complex value by focussing on a single branch, say b = 0, and thereby recover

a single-valued relation or function.
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Rs:\;/;
1.0
0.5

0
-05
-1.0
Re 223
1.0
0.5

0
-05
-1.0
Rez16”7
15
1.0
0.5

Re 216117 0 1m 216/17 0
-05
-1.0
-15

Figure 1.5: Riemann surfaces for some complex powers z/3, 22/3 216/17  rea]

parts colored according to imaginary parts (left) and imaginary parts colored
according to real parts (right).
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1.6 Hyperbolic Functions

Hyperbolic functions are intimately related to trigonometric functions. From
Euler’s identity

e = cosf +isinf (1.21)
and its complex conjugate
e =cosf —isinf, (1.22)
add to get
¢t 4 —if
cosf = — (1.23)
and subtract to get
o1t _ =it
nf = ———. 1.24
sin % (1.24)
3
2
1 -
—sinh ¢
0 cosh
y —tanh 6
_1l=
-2
-3

I g 2
Figure 1.6: Graphs of hyperbolic functions, with tanh § = sinh 8/ cosh 6.

The substitution § — 26 replaces a real angle with an imaginary angle and
generates hyperbolic functions from trigonometric functions. For example,

-6, .0
cos[if] = % = coshd (1.25)
and
e f—et et
sin[i6] = 5 =i = 4sinh§. (1.26)

Cosine “swallows” the % in becoming hyperbolic cosine, while sine “passes”
the ¢ in becoming hyperbolic sine. (Similarly, cosine swallows a minus sign,
cos[—0] = cosf, while sine passes a minus sign, sin[—8] = —sinf.) These
functions are sometime pronounced “cosh” and “sinch”.
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Inversely,
—i0 | ,i0
cosh[if] = % = cosf (1.27)
and —i6 _ 0 i _ —ib
sinh[if] = < o ° =s ;6 = isinf. (1.28)

For every trigonometric identity there is a corresponding hyperbolic identity.
For example, substitute § — %6 into

cos? 0 +sin®f = 1 (1.29)

to get
cosh? § —sinh? § = 1. (1.30)

The hyperbolic functions are real, exponential, and nonrepeating, as in Fig.

1.7 4 Division Algebras

Normed division algebras exist in dimensions 1, 2, 4, and 8 only. The algebras
consist of real numbers, complex numbers or binarions, quaternions, and oc-
tonions. Something is lost at each dimensional doubling: While real numbers
are ordered and their multiplication is both associative and commutative, com-
plex numbers are not ordered, quaternion multiplication is not commutative,
and octonion multiplication is neither associative nor commutative.
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Mathematica Complex Numbers

2.31 (* 1lcm]/a - i, orR or [wFT|E] - input %)

2 31i
=y 2=
13 13

z=3+21ij (% [&ii= » i, Set[a,b] & a=b *)
z == Abs[z] e*A"812) (, [wee » e, amAb -» a, Equal[a,b] o a=b )

True

ReIm[z*] (» zlstconjisc - z* «)

{3, -2}

points[z_ ] :=ReIm/@{z, z*, 1/ z, i z} (» Map[f,expr] e f/@expr «)

Manipulate[
ListPlot[
points[z[1] + & z[2]] » {"z", "z*", "1/z", "i z"},
PlotRange -» 2 {{-1, 1}, {-1, 1}}, (* options %)
AspectRatio -1,
PlotStyle -» Directive[PointSize[0.03], Red],
Prolog - Circle[]

1
{{z, {1.1, 0.8}}, {-2, -2}, {2, 2}}, ControlPlacement -» Left]

1/z

2*
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Worked Problem

1. Rotate the vector ¥ = {1/3,1} through an angle of 30°.

7= {\/g’l}

z=V3+1i
=3+ 1ei arctan[l/\/?:]
— 261'71'/6

o = Zeiﬂ'/ﬁ

— 2ei7r/66i7r/6

— 26i7r/3

T .. w
:2(0055—&—151117)

3
1 \/g

=1+iV3

7' = {1,V3}

/3 1

/6
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Problems

1. For each complex number z, compute z = z*, |z|?, 1/z in rectangular
x + 1y form.
(a) z=1+1
(b) z=2—3i
(c) z = 2e'"/3
2. For each pair of complex number z and z’, compute z + 2, z/2z" in rect-
angular form.
(a) z2=1+414,2' =1—1
(b) 2=2-3i,2 =342
(C) 5= 2€i7r/3’ o = 3€i7T/2

3. Find the principal values of the following complex numbers in rectangular
form.

144\ 278
(a) < > (Readily done by hand!)

1—14
(b) Vi
(c) it (Eye to Eye)
(d) it (Tower of Eyes)

4. For each complex number z, plot z, z*, 1/z, iz.
(a) 2=3+2¢
(b) z = 3ei™/4

5. Use complex numbers to rotate the vector ¥ through angle 6 and interpret
the result graphically.

(a) ¥ ={1,0}, 6 =90°.
(b) 7 ={1,1}, 6 = —45°.
6. Use complex numbers to simultaneously derive the following triple angle
identities.
(a) sin[30] = —sin® 0 + 3 cos® Osin 0
(b) cos[30] = +cos® O — 3sin? 0 cos 0

7. Use complex numbers to derive the following hyperbolic identities from
the corresponding trigonometric identities.

(a) coth?# — csch?0 =1
(b) tanh® @ 4 sech?d = 1
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8. Use Mathematica to visualize the complex fourth root function z'/* as in
Fig. (Hint: Color Plot3D functions of each branch and combine them
with the Show function; compare with the ComplexPlot3D function.)



Chapter 2

Quaternions

The first abstract algebra can represent classical rotations and spin-1/2 quantum
mechanics.

NAhe [0eh o
11 PAS

il “lwr\m‘{

Naflash van

| s

Hamitr.o,, |

Hseon

Figure 2.1: Plaque commemorating Hamilton’s discovery of the quaternion al-
gebra of 3D rotations. (Part of a video frame by Wayne Fitzgerald.)

2.1 Multiplication Table

In the 1840s, William Rowan Hamilton struggled to generalize complex numbers
to three dimensions, but he couldn’t define a generalized multiplication that was
closed. On the Monday evening of 1843 October 16, while walking with his wife
Helen along the Royal Canal in Dublin Ireland, he realized a fourth dimen-

25
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sion would close the algebra, and Hamilton stopped and carved the quaternion
algebra into the stone of the Brougham (Broom) Bridge, an event now com-
memorated by the Fig. plaque. The noncommutativity of the quaternion
product enables it to model 3D rotations. Today quaternions are used exten-
sively in computer graphics and inertial navigation software for airplanes and
spacecraft.

Hamilton’s succinct summary [I] in three quaternion (basis) units was

>

2= =k =0jk=—1, (2.1)

which implies

—i) = —k, (2.2)
and
ji(ijk = 1),
i(=ik = 1),
k= -7, (2.3)
so the quaternion units anticommute like
ij=k=—j (2.4)
and cycle like
=k, (2.5a)
Jk =1, (2.5b)
ki=7j. (2.5¢)

Figure [2.2] summarizes the noncommutative algebra and compares it with the
familiar (but historically later) vector cross and dot products.

E |1 i 5 k

alab 111 & 5 k x| i 5 k ik
il -1 k —j il 0 k—j i|1 00
il =k =1 3 jl=k 0 i 3]0 1 0
Elk 7 = -1 k|l 72 =i 0 k|0 0 1

Figure 2.2: Quaternion (star) product, vector (cross) product, and scalar (dot)
product multiplication tables. For example, i x2 = 12 = —1, 2 x © = 0, and
Pii=1.
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2.2 4D Division Algebra

A general quaternion is the linear combination

i=q+in+ie+hea=q+qai+ei+ak=q0+7
= {90, 01,9, 3} = {q0, 7}, (2.6)
read “g-ring equals g-sub-zero plus ¢-hat times g-sub-one ...”, where the com-
ponents ¢, are real numbers. The addition of a scalar and a vector is just a

convenient notation for a list of a scalar and a vector, qo + ¢ = {qo,q}. A
quaternion is a complex number of complex numbers,

G=aq+iq+7ig+ka = (g0 +iq) + j(ge —igs) = 2+ jz'. (2.7)

A real quaternion has vanishing vector part and a (pure) imaginary quater-
nion has vanishing scalar part, so abbreviate them as

{QO7 6} = qo, (28&)
{0.¢} =¢ (2.8b)

The product of two quaternions
G*p=qp=(qo + @i + qoj + qsk)(po + p1i + p2j + psk). (2.9)

Distribute the multiplication

dp = qopo + qop1i + qop2] + qopsk
+ qupoi + quprii + qip2ij + qupaik
+ qapo] + @2p1)i + @2p2)] + depsjk
+ gspok + qzp1 ki + qspak] + qzpskk (2.10)

and simplify with the Eq. quaternion algebra

b = qopo + qop1i + qopa) + qopsk
+ qipoi — qip1 + qip2k — qips)
+ @2p0) — q2p1k — q2pa + qopsi
+ gspok + q3p1j — gsp2i — q3ps (2.11)

to get

° o

qp = (qopo — q1p1 — q2p2 — q3D3)
+ (qop1 + Poq1 + G2p3 — q3p2)
+ (qop2 + Pogz + q3P1 — Q1P3).
+( )

)
)
qop3 + Poqs + q1p2 — q2p1)k (2.12)
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or

qp = qopo — q1P1 — G2P2 — 43P3
+ qo(p1i + p2j + psk) + po(qui + 2] + qsk)
+ (q2p3 — q3p2)i + (g3p1 — @1p3)j + (q1p2 — @2p1)k
= qopo — ¢ P+ qop + pogd + § X P. (2.13)

Highlight scalar and vector parts by color coding

7 =qp=(q0+ @) (po+p)=qopo — ¢ P+ qP+pod+qxp=ro+7 (2.14)
or with braces

7= qp = {q0, @H{po, P} = {qop0 — ¢ P, qop’+ pod + ¢ x p} = {ro,7}. (2.15)

So the product of two quaternions involves both a scalar (dot) product and a
vector (cross) product. Indeed, the product of two imaginary quaternions

= {0.0H0.F} = {0~ G5, G+0+7xp} =G F+TxF=qxF (216)

is the difference between the cross and dot products. In contrast, the scalar
(dot) product of two quaternions

G-p=(q0+qi+qoj+azk) - (po + pri+ paj + psk)
= qopo + q1P1 + q2p2 + q3p3 = qopo + 7+ D, (2.17)

where 17 # 1 -7 = 0, as real and imaginary directions are perpendicular. Thus,
w=—-landj=kbuti-2=1and?2-)=0.
In analogy with complex numbers, a quaternion’s conjugate

¢ ={q0,—@} = {a0,—a1,~@2.—a3} =0 — @i —@j— sk =q — ¢ (2.18)
negates the imaginary part. The conjugate of a product
(gp)* = (qopo — ¢ P'+ qop + poq + ¢ x )"
=qopo — G- P —qoP —pod —qX P
=pogo — PG —Ppod— qoP+ P X q
= (po — P)(q0 — q)
X (2.19)

is the reverse of the product of the conjugates. The norm

il = Vg = J@+T 7= JR+ R+ E+ =i (2.20)

is the square root of the product with the conjugate, and the inverse

ox

o q
G t= FE (2.21)
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is the conjugate divided by the norm squared.
Imaginary quaternions are “thick” imaginary numbers: If & = {0, 4} = @ is
an imaginary unit quaternion, then « - ¥ = 1 and

'fL2 = (uli + U2j+ U3/;')(u1'2 —+ U2j+ u;;];)

= —u% + uluzl;‘ —uiuz)

— ugull;' — u% + ugusl

+ uzuy) — uzugl — ug

—uf —uj —uj

=-1, (2.22)

or, more succintly with Eq. , WR=di=—d-i+idxid=—-1+0=—1.
Like complex numbers, the absolutely convergent Taylor expansions of com-
mon functions dramatically reorganize when evaluated at imaginary quater-
nions. Since 7@ = @i = —1 even though @ - @ = +1, as in Eq. the Euler
identity
e = cosf + wsin @ (2.23)
follows. Along with the anticommutativity of the quaternion basis units, this
implies
jet® = j(cos§ + isin h)
= jcosf + jisinf
= jcosf —ijsinf
= (cosf — isinh))

—, (2.24)

=€

and so on.

2.3 3D Rotations

Just as complex numbers can model 2D rotations, quaternions can model 3D
rotations. For example, consider a rotation through an angle 8 about a unit
vector #. Form the rotation quaternion or rotor

a 0 0
§=e"/? = cos 3+ @sin -, (2.25)

2

and consider the similarity transformation
7' =quq = e e/, (2.26)

First consider the special case of the rotation of a vector ¥ = {a,b,0} about a
perpendicular axis @ = {0,0,1} through an angle . Form the corresponding
imaginary quaternions v = a2 + bj) = ¥ and @ = k = @ and compute

7' = 6u9/217€_u0/2
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— 61250/2(&2 + bj)efleG/Q

= 61}9/261}9/2((1,2 + b))

= My (2.27)
as in Eq. which is consistent with 2D rotations of vectors using complex
numbers. Next consider the generic case of the rotation of a vector ¥ = {0,0, 1}
about a nonperpendicular axis @ = {1/v/2,0, l/f} through an angle § = 7/4.

Form the corresponding imaginary quaternions v = k=vand 4= (LJrk) /V2 =
1 and compute

7 = eu9/2,l—)»e—u9/2

i+ kr/4 ;
N

Il
/N
o
@]
)]
ool 3
+

>
=k
2

[

oo
N~
bt
/N
o

@]

)]

ool 3
|

+
ks
E

]

ool
N~

l:coszﬁ i COl 7r+i+l%]; co 2Jr]A{AZJFI;S il
=k - — S — sin — :sin s 5 in“ —
V2 8 V2 V2 V2 8
. J+1—7—11 7 k—i—i—k o«
—heo2 Ly 2T T g T E T T T g2 T
8 V2 2714 2 8
1 ~
:7bin2%—j§—|—kcoszg
2—2 1 .2 2
—3 4\[7_;5% +4f. (2.28)

In general if 7= 1r114+ 7127+ 7“31;7 and 4 = w1t + us] + u3§7, then

—/ o = o
7 =qrq”

— eu9/2 Fe—u@/Q

— Q_i_ﬂ Q = Q T Q
= COS2 u51n2 r COS2 u51n2

(reos? i) (cos? —irain®
= ’I“COS2 urs 2 COS2 us 2

6
= 7cos? 3 + (ar — 7d) sin g o085 — WFi sin® 7 (2.29)

But
Ur—ri=(—u-T+Ux7)—(—F-d+7TxXU) =2UXT (2.30)

and
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=7 — 2@ )i, (2.31)

SO
0 0 0 0 5 0
7 = 7cos? 3 + U % F2sin§cosf — Psin? = + (a-7)u 2sin? 3

=7cost + U X 7sinf + (- 7)u(1l — cosO)
=(@-Pd+ (F— (d-7)d)cosf +u x 7 sinf

Fi| 4 7L cos O + U X 7 sin §, (2.32)

which is Rodriques’ formula [2] for the rotation of a vector through an angle 6
about a unit vector , as in Fig.

— —

T UXT
F'zﬁ%—(mcosﬁ)—L—i—(rLsinG) =
T

Ty
=7 +7Lcosf +u x 7 sinf

UXT

Figure 2.3: Decompose the vector 7 parallel and perpendicular to the rotation
axis @ and rotate the perpendicular component through the angle 6 to form 7.

2.4 Rotation Composition

Consider a positive (right-handed) rotation of 90° = 7/2 about k followed by
a positive (right-handed) rotation of 90° = /2 about j, as in Fig. The
composite quaternion rotors (with the rotors concatenated right-to-left)

=i =exp |1 (7)o [} (2]

(o) (o o)
= COS4 JSIH4 COS4 S11’14

:%u+ﬁu+k)

>

(I+i+j+

i+j+k

<>

1
2
1
2

o =

+

&
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= cos [g] + i+\‘j§+ r sin [g]
o | S (22)], 2

which is a single positive (right-handed) rotation of 120° = 2x/3 about the
coordinate diagonal (i + j + l%) /+/3. When multiplying exponentials, the expo-
nents add if they commute, which is not the case here. The order of the rotors
is critical. For example,

s ol ()]

- (e ) (o o)
= COS4 sm4 COS4 ]Sln4

=5 (L +E)(1+))

# qe (2.34)

which reflects the noncommutativity of rotations.

+ +

Figure 2.4: Two 90° rotations about orthogonal axis equals a 120° rotation
about a diagonal axis.
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2.5 Orientation-Entanglement

Unit quaternions ¢ lie on the surface of the hypersphere S* C R? for which
G- q = 1. The quaternion

- 0 0
i, 0] = e™/? = cos 3 + usin 3 (2.35)

represents each 3D rotation twice, a double cover. Suppressing the ¢17 direc-
tion implies

. 0 o - 0
Gluaj + usk, 0] =cos + Jug Sini + kugsin 2 (2.36)

as in Fig. where the north and south poles represent the same orientation
corresponding to angles of 0 and 2.

qod

U SN 0
) v
2

q2

Figure 2.5: 3D projection of 4D quaternion unit sphere representing all 3D
rotations twice, including the rotor ¢lusj + u3l%, ). The rotation axis is the
rotor’s projection onto the equatorial hyperplane, and the rotation angle is
twice the rotor’s co-latitude.

But the Feynman plate and Dirac belt tricks demonstrate that the orient-
ation-entanglement of the north and south poles are different. Following
Feynman, hold a dish on one hand and rotate the hand once under the elbow.
The dish returns to the same orientation but the arm is awkwardly twisted.
Now rotate once more in the same direction over the elbow. The dish returns
again to same orientation and the arm is untwisted. The double 47 rotation is
the true identity.

Following Dirac, twist a belt one full turn about its length. The single
twist cannot be undone without changing the orientations of the belt buckles,
although the twist can be changed from clockwise to counterclockwise. Now
twist the belt two full turns about its length. The double twist can be undone
without changing the orientations of the belt buckles by passing one buckle
around the other. Again the double 47 twist is the true identity.
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For a concrete model, represent twisted belts as connected paths of points
in S3. First assume the belt is extended and twisted 27 in the & direction with
no twisting in the 7 direction. Then the rotors for each belt slice

0 6 - 0
q[0,t] = cos 3 + Jsin[nt] sin 3 + k cos[rt] sin 2 (2.37)

where 0 < 6 < 27 parameterizes the rotation and 0 < t < 1 parameterizes a
transformation from clockwise to counterclockwise twist. For a 27 twist, the
ends of the belt are fixed at

q[0,0] = +1, (2.38a)
q[2m, 1] = —1, (2.38b)

and the quaternion curves joining the north and south poles of the sphere in
Fig. 2.6 represent the belt.

Next assume the belt extends and twists 27 in the & direction with no
twisting in the ¢ direction. Then the rotors for each belt slice

2 2 2 "2 27772
(2.39)

B 0 o Tt . oWt 0\ . wt Tt . .0 7t
q[@,t]zcosicos — +sin® — +) l—cosi sin — cos — + ksin — cos —,

where 0 < 6 < 47w parameterizes the rotation and 0 < ¢t < 1 parameterizes a
transformation from twisted to untwisted. For a 47 twist, the ends of the belt
are fixed at

G0,0] = +1, (2.40a)
[, 1] = +1, (2.40D)

and the quaternion curves joining the north pole of the sphere to itself in Fig.[2.7|
represent the belt.

The 47 rotation is smoothly contractible to the north pole identity rotation
but the 27 rotation is not. Identifying the north and south poles as the same
orientation means that closed loops on the quaternion sphere represent both
the 2w and 47 rotations, but only the latter is contractible to the identity. This
multiple connectivity is reminiscent of a torus (or donut with hole), where
toroidal loops (around-the-hole) are contractible but poloidal (through-the-hole)
loops are not, rather than the simple connectivity of a sphere, where all loops
are contractible.
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Figure 2.6: Elastic belt with a 27 twist (left column). Blue dots on quaternion
sphere projection represent belt cross section rotations. Blue curve connecting
dots can not be smoothly contracted to the untwisted state represented by the
north pole, but without changing the orientation of the belt’s ends, the twist
can be changed from clockwise to counterclockwise as indicated (right column).
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=

Figure 2.7: Elastic belt with a 47 twist (left column). Blue dots on quaternion
sphere projection represent belt cross section rotations. Blue curve connecting
dots can be smoothly contracted to the untwisted state represented by the north
pole, so without changing the orientation of the belt’s ends, the twist can be be
undone as indicated (right column).
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2.6 Fermions

1D real numbers x locate Newtonian masses. 2D complex numbers ¢ = ¥p +
i = {Yg, s} are the wave functions of nonrelativistic particles. 4D quar-
ternions called spinors ¢ = {1, 11,2, 13} represent fermions like electrons.
Consequently, electrons return to themselves only after 27 = 720° rotations!
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Mathematica Quaternions

Needs["Quaternions™"] (» load file, where ' 1is grave accent x)
qQua =1-J+2K // ToQuaternion (» convert from symbolic entry «)
Quaternion[1l, 0, -1, 2]

qVec = {1, 0, -1, 2}; (+ List[a,b] & {a,b} represent vectors «)
qQua = Quaternione@eqVec (» Apply[f,List[x]] o feelList[x] e f[x] *)
Quaternion[1l, 0, -1, 2]

qQua* (* qQualsticonjist *)

Quaternion(1l, 0, 1, -2]

Conjugate[qQua] = qQua* (» Equal[a,b] & a=b )

True

Abs [qQua]?
6

qQua ** qQua* // FromQuaternion

6

pQua = Quaternion[l, -2, -1, 0]; (» semicolon suppresses output «)
2 qQua + 3 pQua // FromQuaternion (» convert to symbolic output «)

(5-61i) -53+4K

qQua *x pQua // FromQuaternion (« quaternion multiplication «)

-613J

pQua xx qQua // FromQuaternion (+» noncommutative multiplication «)

-41+2J)+4K

List @@ qQua.List @@ pQua (» Dot[Apply[List,qQua], Apply[List,pQual]l =)
2
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Worked Problem

1. Combine a 90° rotation about the z-axis followed by a 60° rotation about
the y-axis.

Ry = e™01/2 = £190°/2 _ ,i45°

Ry = ¢%202/2 — £160°/2 _ ,i30°

Rs = RolRy

— ~ o o o
eU303/2 _ 6130 6145

0 0

cos 53 + @5 sin 53 = (cos30° + 7sin 30°)(cos 45° + i sin 45°)
31 11
2 2/ \vV2 V2

_\/§+A\/§+A\ﬁ_g\ﬁ
VTR TV 8

: 93_\/ 293_\/ 3_\F
smE— 1 — cos 5 = 1 3= Vs
93=2arCCOS\/§:2arcsin\/§% 104°

i RyRy — cos[f3/2]
T sinffs/2]

_ BB+ V18- k18
No:

5/8
3 1 -1
Y R Gy Y
Wa+af3-is
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Problems

Use the Fig. multiplication tables to compute the dot and cross prod-
ucts of the following vectors represented as imaginary quaternions. (Do

not compute a cross product as the determinant of a matrix.)

1.

(a) T=1i—k, & =2)— 3k
b) T=3i—j W=i—j+k
2. For each quaternion ¢, compute ¢*, |§|?, 1/4.
(a) ¢=qo+q, where o =2, ¢={1,2,3} =i +2j+3k
(b) g=1+2j+k
() G=1+i—j+k
For each pair of quaternions ¢, p, compute ¢ + p, gp, ¢ - p.
(a) g=1—-j+kp=1-i-]
M) G=14i—2j+k p=1—-2i—j+k

Use quaternions to rotate the vector ¢’ through angle # about direction «

4.
and interpret the result graphically.
(a) T=)+k 6=30° d=i
(b) ©=1{0,0,1}, 6 = 45°, it = {1,1,0}/v/2
5. Combine the following double rotations into single rotations and inter-
pret the result graphically. (Hint: Normalize the rotation axis vectors if

necessary. )
(a) 90° about 7 and then 60° about j
(b) 30° about {1,1,0} and then 45° about {1,1,1}//3
6. Consider the quaternions ¢ =7 — j and p = 72+ j. Show the following.
(a) ap # g
(b) eleP £ cits
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Matrix Product

Matrices, arrays, or tableaus of numbers have been used to solve math problems
for thousands of years. They combine linearly like vectors but multiply to model
rotations.

{«",y'}

Figure 3.1: Matrices can represent the active rotation of a point through a
counterclockwise angle 6 in a plane.

3.1 2D Simple Rotations

Consider the active 2D rotation of a point ¥ = {x,y} to a point ¥ = {2/, y'}
through an angle 6, as in Fig. 3.1} From the geometry,

2’ = rcos[p + 0]
=rcosycosf — rsinpsin b

=1z cosf —ysinb, (3.1)
and

y' = rsinfp + 0]
= rsingcosf + r cos psin 6
=ycosf + zsinb. (3.2)

41
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Collect the variables in the transformation

x' =z cosf —ysinb, (3.3a)
y' = xsinb + ycosb, (3.3b)
into the column matrices
x
(3.4)
Yy
and
x/
(3.5)
y/

and collect the coefficients into the square matrix

cosf) —sinf
(3.6)
sin 6 cosf
and form the matrix equation
z cosf —sinf T
= , (3.7)
y' sinf  cosf Yy

where the color guides the eye in checking the matrix multiplication, where rows
are dot-producted with columns [3]. In bracket notation, write

x’ cosf —sinfd x
y sin cos y
and represent matrix equations symbolically as
7 =RV (3.9)
or
= Rr (3.10)
or in components as
2
Tm = Z Rmnxn = Rmnxna (311)

n=1

where {21,292} = {x,y}. By the Einstein summation convention, the sum
over repeated indices n is implied in the last step.
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Alternately, collect the variables in the Eq. transformation into the row

matrices
r y
and
xl yl
and form the matrix equation
cos
. y/ =lz y
—sin 6

and represent it symbolically as

where the transpose operation 7' interchanges rows and columns.

If the rotation matrix

sin 0

cos

7T — 7TRT,

cosf) —sinf
R[0] =
sin 0 cos
then the inverse matrix
cosf sinf
R0 = ~ R7[f)
—sinf cos6
and the identity matrix
1 0 1
R[0] = =14
0 1 1

(3.12)

(3.13)

(3.14)

(3.15)

(3.16)

(3.17)

(3.18)

The Eq. square matrix R[f] implements an active rotation (of a vec-
tor) counterclockwise or a passive rotation (of the coordinates) clockwise by
pre-multiplying a column matrix of vector components, as in Eq. the in-
verse Eq. E square matrix RT [§] implements an active rotation (of a vector)
clockwise or a passive rotation (of the coordinates) counterclockwise by post-

multiplying a row matrix of vector components, as in Eq.
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3.2 2D Compound Rotations

For a compound rotation first through angle a and second through angle b, write

x’ = xcos[b+ a] — ysin[b + al, (3.19a)
y' = zsin[b + a] + y cos[b + al, (3.19b)
or in matrix notation
x coslb+a] —sinb+ d] i
Y sinfb+a]  cos[b+ a Yy
cosbcosa —sinbsina —cosbsina —sinbcosa x
sinbcosa + cosbsina —sinbsina + cosbcosa Y
cosb —sinb cosa —sina x
= , (3.20)
sinb cos b sina cos a Y
SO
cos[b+a] —sin[b+ d] cosb —sinb cosa —sina
= (3.21)
sinfb+a]  cos[b+ d] sinb  cosb sina  cosa
or symbolically
R[b + a] = R[b]|R[a) (3.22)
or in components
2
ch [b + CL] == Z Rrs [b]Rsc[a] - Rrs [b]RSC[aL (323)
s=1

where the indices r and ¢ stand for row and column, so element R,. of the
product square matrix is the dot product of row r of the first square matrix
with column ¢ of the second square matrix.

3.3 3D Rotations

As direct 3D generalizations of 2D rotations, active counterclockwise rotations
about each axis {x,y, 2z} can be performed by

1 0 0
=Ry:[0]=| 0
0 siné

cosf) —sinf |, (3.24)

cos 0
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and
cosf 0 sinf
R0]=R..00= 0o 1 0 | (3.25)
—sinf 0 cosf
and
cosf —sinf 0
R.[0] = Ryyl0) =| sin@ cos® 0 | (3.26)
0 0 1

which can be interconverted by cyclically permuting the rows and columns. The

product

R = R.[o)Ry[B|Ra 1]

(3.27)

represents a rotation with yaw «, pitch 5, and roll . Like quaternions and
the rotations they can represent, 3D rotation matrices need not commute. For

example, the product

0 -1 0 0 0 1 0 —1 0
™ T
R, H Ry H 1 0 0 0 1 0= 0 0 1] (328
0 0 1 -1 0 O -1 0 0
but reversing the factors gives
0 0 1 0 -1 0 0 O 1
T m
R, [5} R, [5} = 0 1 0 1 0 0 |= 1 0 0 (3.29)
-1 0 O 0 0 1 0 1 0

Any linear transformation can be written as a composition of a rotation, a

rescaling, and a rotation. For example,

1 2 _ cos% —sin% V241 0 Cos%7r sin%Tr
0 1 sin% cos% 0 V2 -1 —sin‘%7r cos%“
(3.30)
or symbolically
M = RSR, (3.31)

which is an example of singular value decomposition.
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3.4 Spacetime Rotations

By the Lorentz-Einstein transformation, if one observer records an event at
spacetime coordinates {¢,x}, then a second observer in relative motion at ve-
locity ¥ = {v,,0,0} records the event at spacetime coordinates {t',z'}, where

"= (t —vpx/c?),
Y(r — vgt),
Yy
z

t
z
y/
S

)
b
where )

- >,
7 V1—wv2/c2

is the relativistic stretch and c is the constant light speed.

transformation as
. . L v
ict' = vict —iy— x,
c
/ . Ug .
T =1y—ct + vz,
c

Yy = Y,

and as the single matrix equation

ict! y —iyvg/c 0 0 ict
x! | tyua/e ~ 0 0 ar
v | | o 0 1 01l vy
2’ 0 0 0 1 z

Parameterize the relative velocity by the rapidity ¢, where
v
—1<tanhp=-=-<1
c

and

1
V== cosh ¢,
v/ 1 —tanh”p
so that
ict' coshep —isinhp 0 0 ict
x’ isinh  cosh 0 0 an
y 0 0 1 0 Yy
2! 0 0 0 1 z

(3.33)

Rewrite the

(3.34a)
(3.34b)

(3.34¢)
(3.34d)

(3.35)

(3.36)

(3.37)

(3.38)
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Finally, substitute 8 = ip € C to get
ict' cosf —sinf 0 0 ict
x sinf  cosf 0 0 ar
_ (3.39)
y 0 0 1 0 y
2! 0 0 0 1 z

The Lorentz-Einstein transformation is a rotation through a complex angle
in a complex space. A change in velocity or boost is a 3 + 1-dimensional
spacetime rotation that produces the projection effects of length contraction,

time dilation, and clock desynchronization in 3-dimensional space.

3.5 Pauli Matrices & Quaternions

The Pauli spin matrices of quantum physics are isomorphic (or equivalent)

to the quaternions. Specifically,

. 0 1
=0, = ,

1 0

) 0 —
i) =0y = ,

7 0

. 1 0
1tk =0, = ,

0 -1

where “—1 rides high on o,”. Their algebra
o2 = 05 =02 = —io,0,0, =1

mimics the Eq. quaternion algebra. For example,

(3.40a)

(3.40D)

(3.40c)

(3.41)

(3.42)

The Pauli matrices are self-adjoint or hermitian and equal the complex conju-
gates of their transposes, where the transpose interchanges rows and columns.
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That’s why o, contains %,

T* *
. 0 —2 0 42 0 —
ol = o;f = = = =0y, (3.43)
+1 0 —1 0 +1 0

but o, and o, don’t. Any complex 2D matrix is a linear combination of the
Pauli matrices and the 2D identity matrix. For example, generalizing scalar
multiplication of vectors to matrices,

a b b+¢ 0 1 b—¢| O —17 a—dl 1 0 a+d 1 O
= +1 +

¢ d 2110 214 o0 2 10 -1 2 101
b+c b—c¢ a—d a+d
=5 s +1 5 T + 5 O + 5 I, (3.44)

where the coefficients are the main diagonal sums or traces of the products of
the original matrix with the Pauli matrices, such as

1 0 1 a b 1 c d 1 b+c

3.6 Other Matrix Products

In addition to the common matrix product

a; b as b ajas + bica  arbs + bid
M1M2: 1 1 2 2 _ 142 1€2 192 102 7 (346)
c1 dp ca  do cias +dica  c1by + dids

the simple Hadamard or entry-wise product

ap b as b ajas  bib
M10M2= 1 1 o 2 2 _ 162 102 (3.47)
C1 d1 Co d2 C1C2 d1d2

and Kronecker or tensor product

Ml ® M2 _ aq bl ® a9 b2 _ CLlMQ b1M2
C1 d1 Co d2 01M2 d1M2
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a1a9 albg b1a2 b1b2
aica aica bicy bid
_ 1€2 12 162 162 (348)
C10a9 Clbg dlag d1b2

cica  cide  dicy  dids

are sometimes useful.
Nonsquare matrices can be multiplied, including the inner product

/
> = ST = L _ / / _ / / 349)
Pl ==z gy L |7 oty | =TT tyy 3.
Y
and the outer product
oty 0 xz'  xy
FF =7t = z oy | = ' (3.50)
y yz' oy’

Generally, multiplication of non-square matrices is defined if the number of
columns of the first matrix is the same as the number of rows of the second,

AB=| axb bxc = axc : (3.51)

Antisymmetric matrix multiplication can mimic the cross product % x ¥ = @ by
0 —u, Uy Vg UyVy — Uy Vy Wy

Uy 0 —uy Uy | =] Uy —ugv, | = wy | (3.52)
—1Uy Uy 0 Vy UgVy — UyVy Wy

3.7 Multidimensional Matrices

Multidimensional matrices can describe multilinear relationships of any order.
For example, in General Relativity the Lorentz transformation

J

linearly relates the spacetime coordinates between two different references frames
(by the Eq. spacetime rotation). The metric connection

dv; = Z Lijr vy dxy, (3.54)
ik
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linearly relates the infinitesimal changes dv; in the components of vector v;
that is parallel transported an infinitesimal distance dzj (due to the curved
spacetime). The Riemann curvature tensor

d’U,; = Z vajkl Uj da:k diEl (3.55)
7.k,

linearly relates the infinitesimal changes dv; in the components of vector v;
parallel transported around an infinitesimal parallelogram of sides dxj and dz;.

Represent these many-indexed objects by multidimensional matrices where
the indices indicate rows and columns. In 1 + 1 dimensional spacetime in geo-
metrical units, the constant light speed

c=1 (3.56)
is a rank-0 scalar; an event
i
x = (3.57)
Z2

is a rank-1 nontensor; a Lorentz transformation

A A
A 11 Ao (3.58)
Aor Ao

is a rank-2 tensor; the metric connection

Iy It
I'o1 Ihoo
Ir= (3.59)
Iy Iogo
I 152
is a rank-3 nontensor; the Riemann curvature
Ri111 Rue Ri2i1 Rioi2
Ri101 Riroo Ri201  Riooo
R= (3.60)

R2111 R2112 R2211 R2212

Ra121 Raioo Rao21  Raooo
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is a rank-4 tensor. (To be a tensor, a multidimensional matrix must also
transform appropriately under a basis change.)
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Mathematica Matrices 1

aMat = {{-1, 3}, {4, 5}}; (» matrices are lists of lists %)

bMat = {{1, 2}, {-2, 2}};

cMat = 3 aMat + 2 bMat (» matrices combine linearly like vectors «)

{{-1, 13}, {8, 19}}

cMat // MatrixForm(» not computable; for display only =)
-1 13)

( 8 19

aMat.bMat (» . - matrix product x)

{({-7, 4}, {-6, 18}}

aMat bMat (x piecewise multiplication instead x)

{{-1, 6}, {-8, 10}}

aMat.bMat - bMat.aMat (+ nonzero commutator =)

{{-14, -9}, {-16, 14}}

dMat = {{1}, {3}}; eMat = {{2, 5}}; (*» sublists are rows =)
MatrixForm /@ {dMat, eMat} (» /@ - Map =)

{[s)> 25

RotationMatrix[e, {0, 0, 1}] // MatrixForm (s [Eq] -» 6 *)

Cos[6] -Sin[e] ©
Sin[e] Cos[6] ©
0 (0] 1

PauliMatrix[1] // MatrixForm(x for display only =)

(2 o)
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Worked Problem

1. Multiply two 3 x 3 matrices.

1 -2 4 1 -2 1
3 1 1 2 1 -3
-2 4 1 4 =2 1
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Problems

1. For each pair of real square matrices A, B, compute A + B, AB, BA.

1 2 0 1
(a) A= ,B =
3 4 2 3
-1 -1 1 2
(b) A= ,B =
1 1 4 7

3
(a) A=| 1 2 ||B=
4
3
(b) A=| 1 2 -1 |B=| 4
5
3. For each pair of complex square matrices U, V, compute 2U + 3V, UV,
VU.
1 = 0 =
(a) U= V=
i 2 2i 3
-1 —1 1 27
(b) U = ,V =
1 1 4 7

4. Verify the Eq. singular value decomposition using matrix multiplica-
tion and trig identities.

5. Use quaternions to show that the rotation matrix through an angle 6 about
a unit vector @ = {ug, Uy, u,} is

R}, 4] =

cos + uZ(1 — cos ) Uply (1 — cosb) —u,sinf  uzu, (1l —costd) + u,sinf
Uylg (1 — cosf) + u, sin b cos ) 4+ u2(1 — cos ) Uy, (1 — cosf) — ug sin b
Utz (1 —cosl) —uysind  wu,uy(l —cosb) + uysind cos ) + u?(1 — cos )

(3.61)
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6. Derive the following Pauli matrix commutator and anticommutator iden-
tities.

(a) [0z,0y]- = 040y — 0yo, = 2i0,

(b) [U£7 Jz]+ = 0420y + 0,0, = 21
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Chapter 4

Matrix Structure

Even before matrices had a name, determinants did. Along with traces, eigen-
values, and eigenvectors, they critically characterize matrices, as in Fig. 4.1

Figure 4.1: The eigenvalues and eigenvectors of a quadratic form determine the
principal axes of the corresponding ellipsoid.

4.1 Determinants

Consider a generic real 2D matrix

a b My, M
M= _ 11 12 (41)
c d MQl M22

acting on the corners of a unit square, as in Fig. The linear transformation
distorts the square into a parallelogram of vector area

A={a,c,0} x {b,d,0} = (a& + cf) x (b2 + df) = (ac — bd)2 (4.2)

57
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and signed area
A, =ac—bd = +My1 Moy — Mo Mo . (43)

This area can vanish if the initial square maps to a degenerate parallelogram
consisting of just a line or a point.

{a+b,c+d}

{0,1} {1,1} {b,d};

{a,¢}

{0,0} {1,0 {00}

Figure 4.2: General linear transformation of a unit square is a parallelogram
with vertex {a +b,c+ d} = {a,c} + {b,d}.

Consider a generic real 3D matrix

a b c My My M3
M=|d e f |=| Man My My (4.4)
g h i M3y Msz Mss

acting on the corners of a unit cube, as in Fig. (where here ¢ # i = v/—1).
The linear transformation distorts the cube into a parallelepiped of signed vol-
ume

V ={a,d,g} x {b,e,h}-{c, f,i}
= (aZ +dy + g2) X (b + e+ hZ) - (e + f§ +i2)
((dh — eg)d + (bg — ah)§ + (ae — bd)Z2) - (c& + f§ +i2)
= (dh — eg)c+ (bg — ah) f + (ae — bd)i
=aei+cdh +bfg— ceg — afh — bdi
= M1 Moo M33 + M3 Moy Mso + Mo Moz M3y
— Mys Moo M3z, — My Moz Mz — Mo Moy M. (4.5)
Generalize the Eq. and Eq. results to a square matrix of any dimen-

sion by defining the determinant to be the sum of all its signed elementary
products. For example,

My M M3
det M =| My, Moy My | = ZiMliMZjM?)ky (4.6)
M1 Mz Ms3
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{0,0

{0,0,0

{1’07

Figure 4.3: General linear transformation of a unit cube is a parallelepiped.

where each terms consists of a product of one element from each row and column
and the sign is positive if the second indices ijk are an even permutation of
the first indices 123 (like the cylic 123, 312, 231) and negative if the second
indices are an odd permutation of the first indices (like the anti-cyclic 321,
132, 213). Alternately,

det M = Z Gl‘jleiszMgk = EijleiMQng,k, (47)
3,7,k

where the Levi-Civita symbol ¢;;, = (—1)P, where the parity p of the permu-
tation is the number of interchanges needed to unscramble ijk to 123.

The Eq. and Eq. results also suggests defining the determinant as a
cofactor expansion. Given the alternating signs and white submatrices

+ - + ab.abc
e f

— o+ — b |d

Q
(=)

o= v g il|gnillgnli
expand
b ¢
d e a a b
d e f|=+c —f +1
g h g h e
g h i

= c(dh — eg) — f(ah — bg) + i(ae — bd)
=aei +cdh +bfg—ceg—afh — bdi (4.9)
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as before, with identical results expanding about any row or column.

Because the determinant geometrically is the volume ratio induced by a
transformation, the determinant of a product of matrices is simply the product
of the determinants of each matrix

det[M N] = det[M] det[N] = det M det N, (4.10)

a refreshingly simple result given the complexities of matrix multiplication and
determinants. Furthermore,

1 =detI =det{]MM '] = det M det[M 1], (4.11)

so the determinate of the inverse of a matrix is the inverse of its determinant

det[M 1] (det M)~ (4.12)

T detM

where M ! is a matrix and (det M)~! is a number.

4.2 Inverses

The inverse M ! of the Eq. Iﬂ 2D matrix M satisfies

MM™t=1 (4.13)
or more explicitly
a b a b 10
= \ (4.14)
c d d d 0 1

which is equivalent to the four scalar equations

aa’ +bd =1, (Er)
ca' +dd =0, (E»)
ab' +bd =0, (E3)
ct +dd =1, (E4)

in the four unknowns a’, ', ¢, d’. Form the linear combinations
dE; —bEy — (da —bc)a’ + (db — bd)c' = d, (4.16a)
cEy —aly — (ca—ac)d + (cb—ad)d =c, (4.16b)
dEy —bEy — (da—be)b + (db — bd)d = —b, (4.16¢)
cE3 —aBEy — (ca—ac)b + (cb—ad)d = —a, (4.16d)

and solve for
d

r—_* (4.17a)
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, —c
- 4.17b
ad — be’ ( )
R (4.17¢)
"~ ad —be’ ’
’ +a
S 4.17d
ad — be ( )
or in matrix form
—1
1 +d —b a +d —c
1= = (4.18)
ad—bc| _. 44 c d —b +a

To invert a 2D matrix, interchange the elements of the main diagonal, negate

the elements of the counter diagonal, and divide by the determinant.

Similarly, the inverse M~ of the Eq. [4.1] 3D matrix M is

et — fh
fg—di

ch —bi

at — cg

dh —eg bg—ah

bf — ce
cd —af
ae — bd

M=

cdh — ceg — fah + fbg + iae — ibd

a b c
=|d e f
g h 1
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e f c b ¢
+ — +

h i h i e f

d f a c a c
— + —

g i g i d f

d e a a b
+ — +

g h g h d e

= , (4.19)

d e a b a b
c —f +1

g h g h d e

where in the second step the transpose M7 of a matrix M interchanges its rows
and columns. Large square matrices can be inverted by similar formulas, which
are implemented by computers. As Eq. and Eq. suggest, matrices are
invertible only if their determinants are non-vanishing.

The inverse of a sparse matrix (of mainly zeros) can be dense. For example,
the inverse of the 13D discrete first difference matrix

1 o o o o o o o0 o 0 o0 o0 O
-1 1 o o o0 o o o o 0 o0 0 O
0 -1 1 o o o o o o0 o0 o0 0 0
o 0 -1 1 o o0 o0 o o o0 o0 0 0
o o0 0 -1 1 o o o o o0 o0 o0 0
o 0 0 0 -1 1 o 0 o0 o 0 0 0
Di=f 0 0 0 0 0 -1 1 o o0 0 0 0 O
o o0 o0 o0 o 0 -1 1 o 0 0 0 O
o o0 o0 o o o o0 -1 1 o 0 0 O
o o0 o o o o o0 0 -1 1 0o 0 0
o o o0 o o o o o0 0 -1 1 0 0
o o o0 o o o o o0 o0 0 -1 1 o0
o o o0 o o o o o o0 o0 o0 -11

—
t.];
[\
(=)

=
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is the triangular matrix

1000000O0O0GO0OO0O
1100000000000
1110000000000
1111000000000
1111100000000
1111110000000

Di'=1 111111000000 (4.21)
111111 11 0400O00O0
1111111110000
1111111111000
1111111111100
111 11111111120
1111111111111

The inverse of the 13D discrete second difference or discrete Laplacian
matrix

-2 1 o o o0 o0 o o o o o0 o0 o0
1 -2 1 o o o o0 o o o0 o o0 o0
0 1 -2 1 o o0 o0 o0 o o0 o 0 o0
0 0 1 -2 1 o o0 o o o o0 0 o0
0O 0 O 1 -2 1 o o0 o0 o0 0 o0 O
o 0 0 O 1 -2 1 o 0 0 o0 0 0
Dy={ 0o 0 0 0 ©0 1 -2 1 o 0 0 0 O
o o0 o0 o0 o0 0 1 -2 1 o 0 0 O
o o o o0 o0 o0 ©0 1 -2 1 0O 0 O
o o o o o0 o0 o0 0 1 -2 1 0 0
o o o o o o o 0 o0 1 -2 1 0
o o o o o o o o0 o0 o 1 -2 1
o o o o o o o o0 o0 o0 o 1 =2

(4.22)
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is the “bulging” matrix

3 12 11 10 9 8 7 6 H 4 3 2 1
12 24 22 20 18 16 14 12 10 8 6 4 2
11 22 33 30 27 24 21 18 15 12 9 6 3
10 20 30 40 36 32 28 24 20 16 12 8 4
9 18 27 36 45 40 35 30 25 20 15 10 5
8§ 16 24 32 40 48 42 36 30 24 18 12 6
-D2_1 = i 7 14 21 28 35 42 49 42 35 28 21 14 7
6 12 18 24 30 36 42 48 40 32 24 16 8
5 10 15 20 25 30 35 40 45 36 27 18 9
4 8 12 16 20 24 28 32 36 40 30 20 10
3 6 9 12 15 18 21 24 27 30 33 22 11
2 4 6 8 10 12 14 16 18 20 22 24 12
1 2 3 4 5 6 7 8 9 10 11 12 13
(4.23)
4.3 Eigenvalues & Eigenvectors
Typically a matrix times a vector produces another vector,
M@ =@’ # . (4.24)

But sometimes a matrix times a vector is proportional to the original vector,
M7 = MV x v, (4.25)

where A and ¥ are an eigenvalue and eigenvector of the matrix (where “eigen”
is German for “own” or “self”). To solve the Eq. eigenvalue-eigenvector
equation, rewrite it as

0= (M7 —\0) = (M — \)7. (4.26)
If det[M — AI] # 0, then the matrix M — A is invertible, and so

O=(M-X)"Y (M- \)T=70 (4.27)
is the trivial solution. To obtain a nontrivial solution, demand

0 = det[M — A (4.28)
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If M is 2D, then

a b 1 0
0 = det - A
c d 0 1
a— A\ b
= det
c d— A

=(a—A)(d—X)—bc
=X\~ XNa+d)+ad—be
=X\ = \tr M + det M, (4.29)

so the two eigenvalues are

TEV12—-40 T1+£D

Ay = 4.30
* 2 2 (4.30)
where the trace, determinant, and quadratic discriminant are
T=1trM, (4.31a)
0 = det M, (4.31b)

D =/72 — 4. (4.31c)

The sum of the eigenvalues

+D -D
T +T

A A =
++ 2 2

—r=trM (4.32)

is the trace of the matrix, and the product of the eigenvalues

T+D 7—-D T2—72446
ApA_ = 5 5 = 5 =0 =detM (4.33)

is the determinant of the matrix.
To find the corresponding eigenvectors v = {vg, vy}, Eq. now implies
the one matrix equation

a— A\ b Vg 0
- = (4.34)
c d— M\t Uy 0
which is equivalent to the two scalar equations
(a — Ap)vg +buy, =0, (4.35a)

cvg + (d — Ax)vy, =0, (4.35b)



66
(4.36)

0
+2

+1
+1

i NN S 4

=~ A A SN SRS

o e SN R d
..m ) ® . -
< O ® D e o
+ 9 PRy
2 = PINERES S = 8
= VIRRRRS S S
AR RNN N~

+1
-1 0

+1

+1
+1 +1
D% <

Ar —d

-1

+1

)\i—a

unstable

1@
centers
>
3

A€

vy
Uy
+1

saddles

-1
-1

so that the ratio of the eigenvector components

Chapter 4. Matrix Structure

TRARANNN Y
TARDAAN N AL
TEERSAA N S s

B
[ ] ——— - - ———
[ ] s N~ ———

PEAERNRS S - SN
FAAEEIANN N & S
PR NN N S SN

Figure 4.4: Representations of eigenvalues and eigenvectors of 2D matrices M.
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The unnormalized eigenvectors

o ae—d b
Uy X x (4.37)

c Ay —a

and the normalized eigenvectors

. Ut 1 Ay —d 1 b
’Ui = — = =
v Ve —dP e e VIIZ+ s —al?| Ay —a
(4.38)

Figure[f.4]summarizes the 2D matrix eigenvalue-eigenvector phenomenology.
Negatives determinants § < 0 correspond to saddles with one repelling and one
attracting direction. Imaginary discriminants D? < 0 correspond to spirals,
with positive traces 7 > 0 rotating one way and negative traces rotating the
other way.

4.4 Diagonalization

The dot product of the eigenvectors of 2D matrices

o T Ao —d
Vg V- =0V, V- X )\+—d @

C

= (A_A,_ —d)()\_ —d)+62

=X A — AL+ Al )d+d*+ 2

=ad —bc— (a_+ d)d+ 4% + 2

=(c—b)c x c—D (4.39)

vanishes when counter diagonal elements b = ¢ and the matrix M = M7 is
symmetric. In that case, the matrix of normalized eigenvectors

O=| o, o_ (4.40)
is orthogonal
T
]
ofo=|""" | . o
o
_ oTop 0To_
oTo,  oTo_
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=I (4.41)

~T
v
OTMO=| T M| i, i

oT
AT
v

=| T Mo, Mo
oT
AT
Ut

= Ay Ao
T +U+
AoTor A_oTo_
Ap0To, A_oTh_

a0
0 Ay

= D. (4.42)

Thus, for a symmetric matrix S = ST, a generic transformation in one
reference frame implies a diagonal transformation in another reference frame,

St = ', (4.43a)
0500w = 0w, (4.43b)
D, = ), (4.43¢c)

where D = 0TSO and @, = OTw and @, = OTw’.

Just as a symmetric matrix S = ST is diagonalizable by an orthogonal
matrix O7 = 07!, a hermitian (or complex symmetric) matrix H = H' is
diagonalizable by a unitary matrix Ut = U™, as in Fig. h



Chapter 4. Matrix Structure 69

, M . ., 8=5T ~,  H=H'

V €—— U V €—— U ) €— U
7|7 T\ OoTfl|o orllo Utl|U Ut |U
U €———— Uy e———— G U, —————

T T / ’ 7
D=T"'MT D=07T50 D=U'HU

Figure 4.5: Similarity transformations for generic matrices M, symmetric ma-
trices S, and hermitian (or complex symmetric) matrices H.

4.5 Matrix Invariants (det & tr)

Even when matrices do not commute, so AB # BA, the determinant and trace
of a product of matrices is insensitive to the order of the factors, so

det[AB] = det[BA] (4.44)

and
tr[AB] = tr[BA]. (4.45)

With respect to the latter,

=ad +bc +cb +dd

. a b a v . aa’' +bc  ab + bd'
T = tr
c d cd d

ca' +dcd b +dd

(4.46)
and

=da+be+cb+dd
da+dc Jb+dd

[ a b || a b 1 da+be ab+bd
tr =tr

(4.47)
are identical. Hence, under a general coordinate transformation 70 = ¢’, the
determinant and trace are invariant,

det M' = det[T ' MT] = det[MTT '] = det M (4.48)

and
tr M’ = tr[T"'MT) = tr[MTT '] = tr M. (4.49)
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4.6 Matrix Functions

Define a function of a matrix by its power series expansion. For example,

1 1
M _ Y
e —I+M+2!M +3!
(with eMieMa — oMi+Ma if Nf M, = MsMy). Since the square of a diagonal
matrix

M3+ (4.50)

a 01 a O a®> 0
D? = = (4.51)
0 d 0 d 0 d2

is the diagonal matrix of squares, and similarly for higher powers, the exponen-
tial of a diagonal matrix

D a 0 1 0 a 0 1] a2 0 1] a® 0
e” =exp = + + 5 + 5 + e
0 d 0 1 0d| 2o | 3 o &
l+a+ £a®+ Za®+--- 0 e* 0
= 2 ? = (4.52)
0 1+d+ gd® + gd3 + - - 0 e

is the diagonal matrix of exponentials, and the determinant of the exponential
of a diagonal matrix

det el = % = eatd = etr D (4.53)
is the exponential of its trace. If the transformation 7T diagonalizes M, then

M =TDT ! (4.54)
implies

—1
oM _ JTDT

1 2 1 3
-1 -1 -1
=I14+TDT +E(TDT ) +§(TDT )P+ -
1 1
=TT '+TDT™ '+ ETDT_lTDT‘l + §TDT‘1TDT‘1TDT‘1 NI

1 1
:T(I+D+2'D2+3'D3+~-~>T‘1

=TePT7 (4.55)
Hence the determinant of the exponential

det eM = det[TeP T = det[ePT'T]

— detel — et D _ or[TTIMT] _ tr[MTT™'] _ jtr M (4.56)
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is the exponential of the trace.
If 0t is scalar parameter and M = §tN, then
det N = It N (4.57)
and so the power series expansions
det[I + 6tN +---] =1+ 6ttr N +--- (4.58)
imply
det[I + 0tN] = det I + 6t tr N + O[5t?]. (4.59)
Hence the directional derivative of the determinant at the identity
det[l 4+ §tN] — det [
Vo det I = T S FON =det T (4.60)
5t—0 ot
is the trace. More generally, if M; is a matrix that depends on ¢, then
M — M
4 et M, = 1im S8 Moo = det My
dt 5t—0 ot
—1 o
— det M, lim UM Meva] — 1
5t—0 ot
_1 DRI J—
5t—0 ot
—1 _
_ det M, lim det[I + 6tM, “dM,;/dt] — det I
5t—0 ot
1M
= det M, tr {Mtl( Ht} : (4.61)
dt

so the relative rate of change or logarithmic derivative of the determinant

(det Mt)—li det M; = tr {Mt_

1 th
dt ’

dt

Alternately, the derivative of the logarithm of the determinant
d d
o log det M; = tr T log M,

is the trace of the derivative of the logarithm of the matrix.
Finally, using the Eq. square 2D matrix trace,

1
det M = ad — bc = 5((a+d)2—(a2+bc+cb+d2))

tr M 1
tr M2 tr M

1 1
5 ((tr M)? —tr M?) = idet

(4.62)

(4.63)

(4.64)
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For a 5D matrix, the pretty pattern becomes
tr M 1 0 0 0
tr M? tr M 2 0 0
1
det M = zrdet| trM® M twM 3 0 (4.65)
tr M* tr M3 trM? M 4
tr M° tr M* tr M3 trM? tr M
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Mathematica Matrices 2

aMat = {{i, 3}, {-2, 1}}; (% [sc[iifsc » i *)

MatrixForm /@ {aMat, aMat”, aMat®} (+ MEctris) —» MT, MEccts —» M' «)
(i 3 i -2 -i -2

{(—2 1)’ (3 1)’ ( 3 1)}

Through[{Det, Tr}[aMat]] (+ » {Dete@aMat, TreaMat} =)

{6+1i, 1+1}

Inverse[aMat] // MatrixForm(x not computable; for display only =)

12 2i 1

6 _ i _18 33
37 37 37 37
37

37 37 37

1/ aMat // MatrixForm (» piecewise inverse x)

—_—
! 1
N= -
Wik
—_

Det[aMat] Inverse[aMat] // MatrixForm(» for display only =)
7]

2 1
aMat.Inverse[aMat] // MatrixForm(» for display only =)
(o1

01
AList = Eigenvalues@aMat

S ((1+i)-/-24-21),
:

N R

((1+i)+m)}

vVecList = Eigenvectors@aMat

-3 3 E b 222
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Worked Problem

1. Invert a 3 x 3 matrix (and check).

2 2
+ - +
1 1
4 2
— _|_ —
1 1
—1 N 4 2 N
2 3 4 ) 5
2 1 2| =
2 2
12 1 +2 ~3 +4
2 1 1
T
-3 0 3
5 -2 1
2 4 -4
~ 2(=3) - 3(0) +4(3)
-3 5 2
0 2y
- = _
3 -1 —4
~1/2  5/6 1/3
= 0 —1/3 2/3
1/2 —-1/6 —2/3
2 3 4| -1/2 5/6 1/3 100
2 1 2 0 —1/3 2/3 010
12 1 1/2 -1/6 —2/3 00 1
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Problems

1. For each real matrix A, compute AT, det 4, tr A, A~ 1.

1 2
(a) A=
3 4
1 2
(b) A=
4 9
1 2 3
(c) A= 3 2 2
11 2

2. For each complex matrix U, compute U, det U, tr U, U~'. (Hint: Recall
that the adjoint is the transpose of the complex conjugate, UT = (U *)T)

21 0
() U=|

T 2

7 1
(b) U=

4 —

3. Find the eigenvalues and normalized eigenvectors of the following matrices.
(Hint: For complex vectors, normalization requires an adjoint rather than
; ST A 1 e ST
a transpose, for example, 9} 9, = 1 instead of 010, = 1.)

12
(a) A=

3 2

2 1
(b) U=

3 —2i

4. Define a matrix function by its power series expansion, as in Eq.

(a) Show that if A7 = —A is antisymmetric, then O = e” is orthogonal
(so that OT = 0~1).

(b) Show that if HT = H is complex symmetric, then U = e is unitary
(so that UT = U~1).
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5. Use Mathematica to evaluate powers S™ and T™ of the following matrices
and induce the general patterns. (Hint: Try using MatrixPower, Simplify
with assumptions, and MatrixForm.)

111
(a) S=| 1 1 1
111
111
(b)) T=|0 1 1
00 1

6. Use Mathematica to apply the Eq. and Eq. first and second
difference matrices and their inverses to a sampled sine curve to visually
demonstrate “differentiation” and “integration” (Hint: Try using Table,
SparseArray, ListPlot, and Rest.)
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Normal Modes &
Eigenstates

As a prelude to Fourier analysis, consider the classical normal modes of masses
connected by springs and the quantum eigenstates of an ammonia molecule.

5.1 Classical Two Degrees of Freedom

When a mechanism oscillates in a normal mode all of its parts oscillate in
phase at the same frequency. The modes are independent or orthogonal as
exciting one does not excite others. The mechanism’s most general motion is a
superposition of its normal mode motions. Normal mode analysis is important
in physics and engineering.

T2

le)
w- =w, >< >
w+=wa<4> 4*»

Figure 5.1: Identical masses connected by springs slide frictionlessly between
two fixed walls in symmetric or antisymmetric motions at slow and fast angular
frequencies w_ and wy.

Consider two masses m connected by springs of stiffness s to walls and
coupled by a spring of stiffness s, to each other as they slide frictionlessly at

7
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positions x; and -, as in Fig. Newton’s second law at each mass implies

miy = Fip = —sx1 + se(x2 — 1), (5.1a)
miy = Fop = —sx9 — Se(x2 — 21), (5.1b)

where the over-dots indicate differentiation with respect to time. Write this as
the matrix equation

Mi = Sz, (5.2)
where the state vector
T
F=| | (5.3)
T2
the mass matrix
m 0
M= A (5.4)
0 m
and the stiffness matrix
—5— 8 s
S = ¢ c (5.5)
Se —8— 8,

where S,.. is the force per displacement on mass » when mass c is displaced.
Seek normal mode solutions where each mass moves at the same angular
frequency w and with the same phase (shift) ¢ by subsituting

7 = Acoswt + ¢] (5.6)
into Eq. to find . .
~Ww!MA=S5A (5.7)
or the eigenequation . .
WA =WA, (5.8)
where
1| s+S. —Se wi + wz —wf
W=-M'1§=— = ° , (5.9)
mi s, s+ s —w?  WwE 4 w?

and the natural frequencies wg = y/s/m and w. = y/s./m. For a nontrivial

A £ () solution of .
(W —W)A =0, (5.10)

the matrix w?I — W must not be invertible, so demand

0 = det[w?T — W]
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w? —wd —w? w?
w? w? —wd —w?
(W - - w?)? - (w2
= (W —wf) (W —wi —2w?). (5.11)

Hence the square eigenfrequencies of the symmetric and antisymmetric normal

mode motion are

w?=w? = w3, (5.12a)
wr =wi = wd + 2w?. (5.12b)
Given the eigenfrequencies, the Eq. eigenequation
) 2 2 2
W —wi§ —w w a1 0
0 e © (5.13)
wg w? — wg — wg as 0
for w = w, implies
2 2
—w w a 0
el [l 1 R (5.14)
w?  —w? as 0
S0 a1 = asg, and for w = w, implies
2,2
WS w aq 0
— = : (5.15)
w? w? as 0

SO a; = —as.
normalized eigenvectors

R 1 1
As = = )
V2| 1
N 1 1
A, = — A
a \/5 _1
are orthonormal
PO U 1 1
As Aa = ASTAa == 1 1
2 ~1

Because the matrix W = W7 is symmetric, the corresponding

(5.16a)

(5.16b)

(5.17a)
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a1 1

As- A=A A4 =511 1 =1, (5.17b)
1

T 1

Aa : Aa = Aa Aa = 5 1 -1 = ]., (517C)
~1

and give the “shape” of the normal modes. The two masses move in the same
direction in the slow symmetric mode and in the opposite directions in the fast
antisymmetric mode, as in Fig In the symmetric slow mode, the center
spring does not stretch or contract, effectively decoupling the masses so they
oscillate at the natural frequency of just a mass connected to a single spring,
ws = 1/8/m = wp. In the antisymmetric fast mode, the center of the spring does
not move, making it effectively twice as stiff, which when combined with the
normal stiffness of the wall spring causes the masses to oscillate at the frequency
wa = /(5 +25.)/m = \JwE + 2w? > wo.

The general motion is a linear combination or superposition of the normal
mode motions

T[t] = csAg cos [wst + @5 + CaAq cos [wat + Pa) , (5.18)

where the amplitude multipliers cs, ¢, and phase shifts ¢g, ¢, depend on the
initial ¢ = 0 positions and velocities of both masses,

A, - Z[0] = ¢, cos gy, (5.19a)
Ag - Z]0] = ¢q cos pa, (5.19b)
A, - 50’[0] —W4Cg SIN g, (5.19¢)
A, 3'3’[0] = —WuCq SIN Pg. (5.19d)

To check, apply the stiffness matrix S = —MW to both side of Eq. to get
ST[t] = s S As cos [wst + s + caS A, cos [wat + 4]
=M (—cSWAS cos [wst + 5] — caW A, cos [wat + goa})
=M (—CSWEAS cos [wst + 5] — cawgfla €os [wet + gpa})
= M[t], (5.20)

which is Newton’s Eq.
The orthogonal matrix of normalized eigenvectors

o=| i, 4, |- (5.21)

Sl -
o
—_
I
—_
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10f “ ﬂ n n H

051 W ﬂ m m m r

0014\ \ny/ ! f :zjl
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il | u,

10f

06} —FE/E

04} —E2/E
—E,JE

s o i

Figure 5.2: Masses motion x1, 29 exhibits mode mixing as energy F1, Fs beats
between them (with little energy E. of total energy E stored in the weak spring).

that diagonalizes M transforms the masses’ coordinates to normal coordi-
nates

£=0"z (5.22)

or

1 1 x 1 1+
Sl Pl T (5.23)

1
&2 V21 T2 V2 T1 — T2

where £; « x1+x5 is proportional to the midpoint of the masses and &3 o 1 —x5
is proportional to the distance between the masses.

As an example, start both masses at rest with the first at equilibrium and
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the second displaced a distance d so that

0

Z[0] = ' (5.24a)
d

Z[0] = 0 (5.24b)
0

Evaluate Eq. to get

d/V2 = ¢, cos g, (5.25a)
—d/V2 = ¢, cos @q, (5.25b)
0 = —wscs sin g, (5.25¢)

0 = —wqCq sin g, (5.25d)

which has the nontrivial solution ¢, = 0, ¢, = 7, cs = d/V/?2, cu = d/V/2, so
that

. d ., d -

x[t] = §AS COS(L)St - iAa COs wata (526)

where coswt is a common but slightly ambiguous shorthand for cos[wt]. In
components,

21t d| 1 d| 1
1lf =- coswst — = cos wqt (5.27)
wolt] | 2] 1 211
or
d
z1[t] = 3 (coswst + coswgt) , (5.28a)
d
zolt] = 3 (coswst — coswgt) . (5.28b)

A couple of trig sum-to-product identities imply

wWst — wqut Wet + wet
cos

x1[t] = +dcos 5 , (5.29a)
st - at . st at
zo[t] = —dsin it 5 Yal gin ¥ —;—w (5.29b)

Introduce the frequency mean and splitting wy = (w, + ws)/2 and a couple of
trig sum-to-product identities imply
x1[t] = (dcosw_t) coswy t, (5.30a)
xs[t] = (dsinw_t) sinw,t, (5.30b)

which emphasizes the “beats” or mode mixing of Fig.[5.2] where a slowly varying
amplitude modulates a fast frequency.
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5.2 Quantum Two-State System

Figure 5.3: Plane of hydrogens can quantum tunnel through the nitrogen atom
in ammonia. Modeled as a point particle in a bistable potential, the symmetric
and antisymmetric energy states create an effective two-state system.

The ammonia molecule NHj is a fascinating example of quantum tunnel-
ing [4]. Ammonia is shaped like a pyramid, with a large N molecule at the apex
and a triangle of small H atoms at the base, as in Fig. In addition to elec-
tronic, translational, vibrational, and rotational degrees of freedom, ammonia
has an additional degree of freedom: the base of H atoms can be on one side of
the N atom or the other. Classically, a potential energy barrier prevents such an
“inverting umbrella” transition, which we can simply model with a finite square
barrier inside an infinite square well. The potential barrier reflects the repulsion
between the N and the H atoms; the potential side walls reflect the chemical
bonding, which insures the molecule’s cohesion; the two minima represent the
two stable configurations. Quantumly, the molecule can tunnel between these
two configurations, and it does so spontaneously, in the absence of any forcing.

Table 5.1: Matrix representations for bra and kets, where [1))T = (1].

a
vector ket [4)

b
functional bra (| a* b*

aa* ab*
operator ket bra ) (]

ba* bb*

scalar bra ket (Y|) a*a + b*b




Chapter 5. Normal Modes & Eigenstates

84

Model ammonia as a two-state system with “Left” and “Right” base states

. 1
L=my=| |
0
. 0
R=|R) =
1

(5.31a)

(5.31b)

in the Table[5.1]bra-ket notation. The general state is the linear superposition

- v,
U =|0)=".|L)+¥g|R) =
YR
If the Hamiltonian
e Ey, -—-A 7
—-A Ej
then the Schrédinger equation
1ho|W) = H|WP)
becomes
4 Ey, —-A 14
g =] ° k
Ur —-A Ey Ur

or in components

ihW, = +EgW;, — AUp,
ihWp = — AU, + EgWUg.

Seek stationary solutions of definite energy E by substituting
@) = e PN
or in an alternate notation
[the) = [bo)e™ /"
into Eq. to find the eigenvalue-eigenvector equation
Elp) = H[Y)

or

(EI - H)) = 0.

(5.32)

(5.33)

(5.34)

(5.35)

(5.36a)
(5.36D)

(5.37)

(5.38)

(5.39)

(5.40)
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For a nontrivial [¢)) # 0 solution, EI — H must not be invertible, so demand

0 = det[ET — H]

| E-E A

| A4 E-E

= FE? - 2EyF + E} — A?

=(E—Ey—A)(E—Ey+ A), (5.41)

so the eigenenergies of the symmetric and antisymmetric states

E,=E_ = Ey— A, (5.42a)
E,=E, = Ey+ A. (5.42b)

Given the eigenenergies, the Eq. eigenequation

E — E A 0
0 | _ (5.43)
A E - Fy Yo 0
for F = E, implies
-A A 0
L | (5.44)
A —A o 0
SO 19 = 19, and for E = E, implies
A A 0
v\ _| o) (5.45)
A A o 0
so ¥1 = —1by. Because the matrix H = HT is hermitian, the corresponding
normalized eigenstates
D= (5.461)
S) = —— 5 . a
V2| 1
= (5.46)
a) = — \ .
V2| 1
are orthonormal
1 1
§ra=(slay==| 1 1 =0, (5.47a)
2 -1
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1 1

2 1

L 1 1
a-a= <a‘a> = 5 1 -1 =1. (547C)

=1

A general state is a linear combination or superposition of the stationary
states

) = esls) + cala), (5.48)

where the amplitude multipliers cs, ¢, are

(s|¥) = cs, (5.49a)
(a]yp) = cq.- (5.49Db)

At a later time, the initial state evolves to
W) = cq|s)e " Eet/P 1 ¢ |a)e Eat/n, (5.50)
To check, apply the Hamiltonian H to both sides of Eq. to get

H\W) = coH|s)e "Bt/ 4 ¢, Hl|a)e *Eat/R
= ¢y By|s)e Bt 4 ¢ B, la)e HEat/h
=iho, (cs|s>67iEst/h + cﬂa}eiiE“t/h)
= 1hO|W), (5.51)
which is Schrodinger’s Eq.

As an example, suppose the ammonia molecule begins with the plane of
hydrogens right of the nitrogen atom,

1
) = |R) = : (5.52)
0
Evaluate the Eq. projections to get
1/V2 = ¢, (5.53a)
—1/V2 =cq (5.53b)

so that
(5.54)
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or in matrix form

P e T B T T (5.55)
2 2 0

Thereafter, the complex phase of each energy eigenstate rotates at frequency
proportional to the corresponding energy

1 ; 1
U) = —|s eszst/h N P
) = ko) =
1 . = . .
_ ﬁeszt/h (‘5>6+zwt/2 _ |a>671wt/2> , (556)

where the average energy E = (E, + E,)/2 and the energy splitting hw =
AE = E, — E5. The probability amplitude to find the plane of the hydrogens
left of the nitrogen atom is the projection

>efiEat/h

<L|!P> _ %e—iE‘t/h (<L|S>e+iwt/2 _ <L|a>e—iwt/2>

_ e—iEt/h <e+iwt/2 _ e—iwt/Q)
2

E t
= jeEt/hgin % (5.57)
and the corresponding probability for the ammonia molecule to tunnel from

right to left is
4
P = [(L|7)[* =sin® 7, (5.58)
where sin z is a common abbreviation for sin[z]?, as in Fig. This is the
basis for the ammonia maser.

1

P

b 2n ;
AE AE

Figure 5.4: Probability P to find the ammonia’s hydrogen plane left of the
nitrogen atom versus time t oscillates with period T = 2nh/AE = h/AE.



Chapter 5. Normal Modes & Eigenstates 88

Mathematica DSolve

sl =DSolve[x'[t] = -x[t], x[t], t] (» Equal[a,b] & a=b %)

{{x(t1 »e*cCr11}}

Plot[x[t] /.s1/.C[1] »1, {t, 1, 4}, Filling -» Bottom]

15 20 25 30 35 40
s2 =DSolve[{x'[t] = -x[t], X[0] =1}, x[t], t]
({(x1t1 > )

xs[t ] =x[t] /. s2[1] (+ s20 [ [E1E]]]E o S2[1] *)

e—t

vars = {x[t], y[t]};
go = {x'[t] = -y[t], y'[t] =x[t]};
start = {x[0] =1, y[0] = -1};

DSolve[go |J start, vars, t]

{{x[t] > Cos[t] +Sin[t], y[t] - -Cos[t] +Sin[t]}}

DSolveValue[go|Jstart, vars, t] (x =unit - |J *)

{Cos[t] +Sin[t], -Cos[t] +Sin[t]}

{xs[t_], ys[t_1} = DSolveValue[go|J start, vars, t]

{Cos[t] +Sin[t], -Cos[t] +Sin[t]}

ParametricPlot[{xs[t], ys[t]}, {t, O, 2}, Frame » True]

1.5
1.0
0.5
0.0
-0.5
-1.0

-15 J
-1.5-1.0-0.50.0 0.5 1.0 1.5

Solve[x'[t] = -3 x[t] /. X > (Exp[A#] &), A]

{{x->-3}}
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Worked Problem

1. Find the energy eigenstates of the Hamiltonian H = Ey| ( 1 0

7 0 1
H|E)=E|E)= (H—-EI|E)=0& |E)#0=
Ey—FE 0 —iEy
0=det[H — EI] = 0 Ey—F 0
iEy 0 Ey—E

Ey—E —iE,
iE, Ey—E
= (Eo — E)((Bo — E)? - Ej)) = (Eo — E)(=2Ey + E)E

= +(Eo — E)

= F=0,FEy,2F,

Eo—E 0 —’LEO x 0
(H—EI)|E>: 0 Ey—F 0 y =] 0
’I,EO 0 Eo—E z 0
EO 0 —iEO X 0
(H—OI)|0>= 0 Ey 0 y =] 0
ZEO 0 EO z 0
+x —1z=0
+y =
+ix +2=0
T 1
=0 =] y |[=No| 0 [ = (O[=[0F=] - 0 1 |Ng
z 1

1= <0|0> = N()(—’l:2 + ].)]\fék =2 ‘N()|2 <= Nog = —

N
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0 0 —T:E() x 0

(H-E)1)= 0 0 0 y =] 0
1Ey 0 0 z 0

—z2=0

0 =0

+x =0

T 0
=)=y |=| 1

z 0

—E(] 0 —iE() X 0
lEo 0 —E() z 0
- —1z2=0

—y —

+ix —2=0

T —1

=2)=|y [=N] 0 | = @2=2"=] i 0 1[N;

z 1

1
1=(22) = No(—i2 + 1)NZ =2|Ny|> = Ny = —
(2[2) = Naf JN3 = 2|No 2= 75
1 0 —1
1 1
O=— 0 |, |)=]11 12)=— 0
|0) 7 1) 12) 7
1 0 1
—q ,

1 1 2°+1
012) = —| —g 1 — = =0
(0[2) 7 40 0 1% 5

1
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Problems

1. Model a linear system of three points of mass m connected to each other
and two walls by four springs of stiffness s.

(a) Find the normal mode frequencies.

(b) Find the normal mode shapes, and interpret them graphically.

2. Model a linear system of three points of mass m connected to each other
by springs of stiffness s.

(a) Find the normal mode frequencies.

(b) Find the normal mode shapes, and interpret them graphically.

3. Model a 3-state quantum system by the Hamiltonian

3 2 0
H=Ey 2 0 0 | (5.59)
0 0 1

(a) Find the allowed energies.
(b) Find the stationary states.
(c) If the system is initially in the state

1
|w>=\wo>=% n (5.60)
0

what is its state |&) = [¢);) at a later time?
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Chapter 6

Fourier Analysis

Inspired by normal modes or eigenstates, introduce Fourier analysis and syn-
thesis of functions, as in Fig. in analogy with decomposing a vector into
components or constructing a vector from components.

Figure 6.1: The Wooster W traced out by epicycles of 100 circles-moving-on-
circles in the complex plane. Algebraically, the trace is a complex discrete
Fourier series Y ¢, e""? = Zrne’("“’"‘en), where r,, are the circle radii.

93
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6.1 Finite Basis
Consider a finite set of basis vectors
{#1,Z9,..., 2N}
Assume a scalar product
N
U= Z Uy Uy,
n=1
under which the basis vectors are orthonormal so that
jjm . :i'n = 5mnv
where the Kronecker delta

1, m=n

0, m#n

5mn =
Any vector v is a linear combination of the basis vectors

N
U= E TpnUn
n=0

because the coefficients can be liberated by the projection
N
n=0
N
n=0

N
= E 6mnvn
n=0

=040+ 4+0+1vm+0+---40

Il
2>

T - U

= Um.

Hence,

with

(6.4)
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6.2 Countable Basis

The countable normal mode shapes of a string fixed at two ends a distance L

apart are the sinusoids
N,, = Nsink,z, (6.9)

where the normalization N = /2/L and the spatial frequency k, = 27/\, =

nm/L, or
Nylx] = \/Esin [mr%} , (6.10)

and the index n is a natural number. Treating a continuous function with values
flz] as a generalization of a discrete vector with components v,,, assume a scalar

product
(flg) = /dxf /f (6.11)

under which the normal modes are orthonormal as

L
(Nm|Np) = (m|n) = / dx (N sink,,z) (N sin k,x)
0

L
o [ o o]
A T S1n m7rL Sin mrL

L T
:Nz—/ df sin m#@ sinnf
™ Jo

ifr d9%(cos(m—n)0—cos(m+n)9)
1 Sln(m —n)f  sin(m+n)o\ |*
T ( m-—n B m+n > 0
= Gy, (6.12)

because sin pf ~ pf as p — 0 for the m = n case, and graphically as in Fig.
Any string shape f[z] is a discrete linear combination of the normal mode
shapes

fla] = Z Np[z] fn (6.13)

= In)fn (6.14)

because the coefficients can be liberated by the projection

(mlf) = (m| Z [} fo
i (m|n) fr
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Figure 6.2: Sine modes for a string with fixed ends are orthonormal as plots of
the first two modes suggest.

=0+ -'-+0+1fm+0+~~
=fm (6.15)

or equivalently

= (n[f)

/ dz N[
= \/;/O dz sin nﬂ'%} flz] (6.16)

so that -
Z )nlf) (6.17)
(@) = (xln)(nlf), (6.18)

n=1

which means -
fla] = Nufa] fo. (6.19)

The classic [5] Fourier sine series

i \/jsm {mrz] I (6.20)
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with Fourier coefficients

o = /OL dz \/gsin [m%} flz]. (6.21)

6.3 Uncountable Basis

Because their frequencies are multiples of a fundamental frequency, the Eq.
sinusoidal finite space normal modes can synthesize any periodic function (or
a finite portion of any nonperiodic function). As a generalization to overcome
these limitations, take the infinite space normal modes to be the complex

sinusoids . . )
Elk,z] = ——e " = coskr — ——z1sinkz, 6.22
[k, 2] V2T V2T V2 ( )

where the index k is a real number. Assume a complex scalar product

L
(flg) = / dz fla]" gla] (6.23)

for which the normal modes are orthonormal, as

(E[k, ]| E[K, 2]) = (k|K') = /OO dz E[k, 2]*E[k', z]

— 00

)
1 +1kx 1 —ik'z

dx e e
5o v 2T V2T

o 1
dr —
o e

1 oo ) o
= — lim / dp e ® /4 gi(k—k )z

21 A—oo

i(k—k')x

1 (oo}
— lim

de ef(gcfi2(k7k’)A)2/4A e—4(k—k’)2/12/4/1
2T A—oo o

1 / & :
=5 lim e~ (F—F )2AV4A/ dze

1 /
— — lim e~ *=*A/4A /7

2T A—oo
= Jim 4/ oAtk
A—o00 s

— i ot
= A oalk =]

— 6k — K], (6.24)
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where the insertion of the integrating convergence factor e~ /44

famous Gaussian integral

%) ) 2 00 R 00 )
</ dzez> (/ dzez></ dzez>

= (/ dxex2> (/ dyeyz>
o poo >

:/ / dzx dy e~ @ +y%)
_271' _oo R

:/ / rdrdf e™"
0 0

S G

=27 26 .

= (6.25)

produces the

and also creates a representation of the Dirac delta, as in Fig.[6.3] The Dirac
delta generalizes the Eq. [6.4] Kronecker delta from discrete indices to continuous
indices. It can be understood heuristically as the limit of an infinitely high but
infinitely narrow bump or spike

oo, k=FK
ok — k'] = (6.26)
0, k#kK
bounding a finite area
1= / dk Sk — k') (6.27)

with the sifting property

/dxf[x]é[x—a] = /dxf[a]é[x—a] = f[a]/dxé[x—a} = fla].  (6.28)

Any shape f[z] is a continuous linear combination of the normal modes

fla] = [ "k Bk, 2] flK] (6.29)
= [ dxf (6.30)

because the coefficients can be liberated by the projection
015) = 01 [ aki
— [ arwm i

— 00
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1.0

A e
0.8} 9al#] = \/;e .

0.61

.

0.4f

\

\
0.0 J

-5 0

Figure 6.3: The Dirac delta can be represented as the limit of an infinitely high
but infinitely narrow Gaussian of unit area, é[z] = limg_oo 04[2].

= /OO dk 6[k — k') f[k]
= fI¥]

or equivalently

FIK] = (kI f)
:/_ da [k, 2]* f[a]
1 * tkx
_ E/_wdxﬁk flz]
so that -
)= [ dklen)

lf) = [ b el
which means -

flel = [ dk Blk.alf,
Thus, the classic Fourier transform

= [ Z dz \%;*“”f[x]

with the inverse transform

fla] = /_oo dk \/%e_ikxf[k].

(6.31)

(6.32)

(6.33)

(6.34)

(6.35)

(6.36)

(6.37)
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6.4 Examples & Properties

The “Big 4” Fourier examples illustrate generic properties.

6.4.1 Square-Wave Fourier Series

Using Eq. and Eq.[6.21] the Fourier series of the Fig. [6.4) on-off or square

wave function

Sq,1[z] = asgn {sin [277%” ) (6.38)

of amplitude a and wavelength L, where the signum function sgnlz] = z/|z|
gives the sign of a number, is

Sa,L[z] = fa Z ~2 os [ } sin? [nﬂ sin [n 77%]

= % i sln [(4m —2) Tr%]
= % zd: sin {E 2r— } (6.39)
or
Se,L[x] =
éa (sin |:27T£:| + 1@in {67ri} + 1sin {107T£:| + 1Sin {147r£} + - )
s L 3" L 5 L 7 L ’
(6.40)

where the coefficients are inversely proportional to the odd natural numbers. In
particular, the Fourier series of the square wave

$1,2x[%] = sgn [sin x] (6.41)

of unit amplitude and 27 wavelength is

S12rx[x] = 4 <sinw + 1sin3x + 1sinl:')x + 1sin?m +-- ) , (6.42)
' 7 3 5 7
where 4/7 &~ 1.27, so the fundamental term slightly overlaps the square wave.

Jump discontinuities cause slight ~ 9% overshoots in the final Fourier syn-
thesis. In practice, one might be interested only in a single wavelength, like
the string of length L, but because the frequencies of all the harmonics, the
fundamental and all the overtones, are multiples of the first harmonic, the
pattern repeats infinitely in both directions. If the initial function has a nonzero
mean, subtract it before Fourier analyzing, as all the sines have zero mean. If
the function is antisymmetric or odd (rather than symmetric and even)
with respect to the origin, use a cosine series instead. If the function has no
symmetry, use a combined sine and cosine series.
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1Y H "\‘ —
o ] w V1
/\; \l v

Figure 6.4: First few terms or harmonics (smooth curves) in the Fourier sine
series of a square wave (piecewise linear curve) and their sum (dashed curve).
Jump discontinuities cause slight ~ 9% overshoots in the final Fourier synthesis.

-~

<=2

6.4.2 Sawtooth Fourier Series
Using Eq. and Eq. the Fourier series of the Fig.[6.5]ramp or sawtooth

function .
T T
wa7L[$] = 2a <Z — \‘ZJ — 5) s (643)

of amplitude a and wavelength L, where the floor function |z] maps a real
number to the greatest preceding integer, is

2 o 2
We,L[x] = ;az — - cos [ng} sin [nw%}
n=1

2 = —2(-1)™
;amzﬂ % sin {Qm 7'('%}

9 (_1)4/24—1 ] T
=Za Y il f] 44
—a e sin [ T (6.44)
£ even
or
2 R P 1 . T
Wa,r[z] = ;a(sm _27TZ] — 5 sin [47rz}
1 .7 1 . T
—|—§ sin _67TL] 1 sin [871’5}
1 .7 x 1 . T
+5 sin _107rz} — —sin [127rz}
1 .7 x . T
—|—§ sin _147rz] — —sin |:167TZ:| + ), (6.45)
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where the signs alternate. In particular, the Fourier series of the sawtooth
T x 1
2] = 2 ——{—J—— : 4
Wizaz] <27r o 2) (6.46)
of unit amplitude and 27 wavelength is
2 1
w1 2r [X] = - <sinx ~5 sin 2z
1 1
+§ sin 3z — 1 sin 4z
1 1
—1—5 sin bx — 5 sin 6z
1. 1 .
—|—? sin 7x — gsm&u—l—--- ) (6.47)

where 2/7 a2 0.637, so the fundamental term fits snuggly inside the sawtooth.

Figure 6.5: First few terms or harmonics (smooth curves) in the Fourier sine
series of a sawtooth (piecewise linear curve) and their sum (dashed curve).

6.4.3 Gaussian Transform

Using Eq. the Fourier transform of a normal or Gaussian function

1 2 2
- —(z—p)*/(207) 6.48
et 271_026 ( )

of center or mean p and width or standard deviation o is the Gaussian

1 2 2 .
eko/Qe ik

Ju.o[k] = Vo
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(/257 ik (6.49)

V2me2

of width & = 1/0 and mean i = 0 multiplied by a complex phase factor, as in
Fig. In particular, the Fourier transform of a Gaussian

1 e
go,l[x]=me & (6.50)

of unit width and zero mean is the Gaussian

i 1 e
dolk] = —=e w7 (6.51)

of unit width and zero mean. The latter is the frequency spectrum of the
former.

-5.2 0.2 5.2

gk = g,k +igge) gl 9rlF] (w0}

Figure 6.6: Fourier transform of a normalized (real) Gaussian with mean p and
width o is another (complex) Gaussian. Widths are inversely related and the
absolute squares of the areas are the same.

The inverse relation between the widths of the Gaussians in position and
frequency space
o6 =1 (6.52)

is the bandwidth theorem or the uncertainty principle and is a generic
feature of the Fourier transform. The inverse relation between the heights of
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the Gaussians in position and frequency space implies

/wmmmwuhif”%mmwm, (6.53)

— 00 — 00

which is the Plancherel or Parseval theorem and expresses the unitarity of
the Fourier transform. More abstractly,

/mwmmw=/w@mw@ (6.54)

(9l9) = (gla) (6.55)

because of the completeness relations

/dﬂc|x>(x| = /dk|k)<k| =1, (6.56)

where P, = |x)(z| is the projector onto x, with P,|z) = |r) and P? = P,, and
I is the identity.

-3.2 0,2 3.2

0,1/2

Bk = bk +ibge] ol bilA] {c,w}

Figure 6.7: Fourier transform of a normalized boxcar with mean ¢ and width w
is a sinc. Widths are inversely related and the absolute squares of the areas are
the same.
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6.4.4 Boxcar Transform

Using Eq. the Fourier transform of a top-hat or boxcar function

1w, c—w/2<z<c+w/2
be,w(z] = / vl / (6.57)

0, else

of center or mean ¢ and width w is the sinc function

- 1 e sinfkw/2]

bewlk] = %2776 hw)2
L ike kw
= me smc[ 5 } (6.58)

multiplied by a complex phase factor, as in Fig. [6.7| In particular, the Fourier
transform of a boxcar

1, -1/2<x<1/2
boalz] = (6.59)
0, else

of zero center and unit width is the sinc function

bo,1[k] = k} . (6.60)

.
—— sinc
Vor [2
The latter is the frequency spectrum of the former, the square of which is
the familiar as the far-field irradiance pattern of light incident on a narrow slit.

6.5 DFT & FFT

The Discrete Fourier Transform (DFT) of the sequence {zg, z1,...,2n-1}
is the linear transformation

| Nl ;] Nl - ;| Nl
~ i2rmn/N __ ( i27r/N) _ mn
T = —— Tne = — e Tp = —— WLy,
i i VPR
(6.61)
where m € {0,1,...,N — 1}. The Nth roots of unity or twiddle factors

wy = 2™ /N (6.62)

satisfy
W = Wny2, (6.63a)
wh/? =1, (6.63b)

wi =1. (6.63c)
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For N =1, the DFT transformation is the identity
570 = T1. (664)

For N = 2, the DFT is the additive mixing

V2ig =20+ a1 =m0+ a1, (6.65a)

V231 =z + wary = 20 — 71 (6.65b)

and involves no multiplications because wy = €™ = —1. As a matrix equation,
T 111 1 T a5

= — Cl=R| Y, (6.66)
T V2| wa 1 x1

where the Fourier matrix

o I PR (6.67)
2 = -_— = — .
V21w, | V21 41
For N = 22 = 4, the DFT
20 =20+ T+ T2+ T3, (6.68a)
221 = xo + waxy + wixg + wixg, (668b)
2%y = xg + wir) + wiTe + wizs, (6.68c)
203 = 1o + wle + w2$2 + UJZ(ELD,, (668d)
and the twiddle factor wy = €*™/2 = i. As a matrix equation,
ff() 1 1 1 1 o Xo
T 1] 1 ws w? wi a8 z
Y=z Lo Y=E | T (6.69)
T 211 w? wi Ww§ T2 T2
T3 1 wi W Wi T3 T3
where the Fourier matrix
1 1 1 1 1 1 1 1 1 1 1 1
7 1] 1 wy wf wi 1| 1 wg ws wowy 111 ¢« -1 —
4 = = = — - —
211 w2 oWt WS 21 -1 1 -1 211 -1 1 -1
1 wi’ wg wﬁf 1 —ws wy —wowy 1 —: =1 2
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Factor the Fourier matrix by writing
1 1 1 1 1 0 0 0
1] 1 w? wy wi 0 010
Fy=-
211 Wt w2 Will0o 100
1 w§ wh W) 0 0 0 1
1 1 1 1 1 0 00
1l Wy Wy Woly 00 10
211 1 -1 41 0100
1 wo —Ww4 —WoW4g 0 0 0 1
1 0] 1 0 1 110 O 1 0 0 0
110 11 0 wy 1 we |0 O 0 0 10
21 0o[-1 0 |0 0|1 1 [0 1 00
0 11 0 —wy 0 0|1 we 0 0 01
1 I D 0
= ? Pr (6.71)
V2|, -D, || 0 R
and check by multiplying. The permutation matrix
Py = (6.72)

o = O O

1 0
0 1
0 0
0 0

0
0
0
1

puts all the Fourier matrix even index columns before the odd index columns.
The permutation matrix is orthogonal. For example,

0
0
P, PI' =
1
0

o O O =

o O O =

S O = O
S = O O
= o o O

o o o =

o O = O

S = O O

= o o O

and generically P~ = PT.

=1, (6.73)
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The Fourier matrix is unitary. For example,

1 1 1 1 1 1 1 1 1 0 0 0
i1 1 ¢ -1 — 1 -2 -1 1 01 0 O
F,F =1 = =1
1 -1 1 -1 1 -1 1 -1 0 01 0
1 — -1 1 1 ¢ -1 —i 0 0 0 1
(6.74)

and generically F~' = FT which greatly facilitates inverting the transform.
Since

t
1 1 1 1 1 1 1 1
1] 1 wy w? wi 1] 1 wp w2 W
Fil=F]=_ ‘B ¢ | == f T L (67n)
211 wr wi Wl 211 wi? wit wyt
1 wi w§ W) 1 wi® Wy wp®
the Eq. DFT transform inverts to the nearly identical
;| Nl ;] Nl
— *mns ~ _—i2mmn/N (6 76)
T = —= WN Ty = —— Tne . .
VN ; N VN ;
The square of the Fourier matrix is another permutation matrix
1 1 1 1 1 1 1 1 1 0 0 O
111 ¢« -1 — 1 ¢ -1 — 0 0 0 1
FyFy = - = 7
A1 11 <11 =11 1 0010
1 — =1 3 1 — -1 3 01 00
(6.77)
and the square of the square of the permutation matrix is the identity matrix
1 0 00 1 0 00 10 0 O
4 P 0 0 0 1 0 0 01 01 00
Fy=F;F; = = =1I;. (6.78)
00 10 0 0 1 0 0 010
01 00 01 0O 0 0 01

Since F* = I, det F* = (det F)* = 1, which implies that the Fourier matrix
eigenvalues and determinant are fourth roots of unit {£1, +i}.
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The Eq. factorization of the Fourier matrix expresses Fj in terms of
F,, and the latter involves no multiplications (other than normalization). The
general block matrix result

1| Ing2 Dn Fnig 0
Fy=——

PL (6.79)
V2| Iy, —Du 0 Fnp

is the core of the Fast Fourier Transform algorithm, one of the most famous
and important algorithms in computer science. Applied recursively, it can re-
duce the number of required complex multiplications from order N2 to order
%N log, N, which is a huge reduction for large transforms.
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6.6 Fourier Transform Variations

Simple change of variables shuffles the Eq. Fourier Transform normalization
constant 1/v/27. For example

fla] = V% / " ke k), (6.50a)
k] = - z etk fly
fir == [ dwerga) (6.50b)
fla] = % /_ ke i, (6.81a)
FIk] = /_ T dp et f), (6.81D)
fla] = /_ " ke g, (6.822)
flk] = % [ " dpetike flz], (6.82D)
flz] = /_ gl iz fIk], (6.83a)
Flk] = /_ " dp etz fg). (6.83D)

and can also interchange the exponent sign. Higher-dimensional Fourier trans-
forms like those in Fig. are widely used in imaging processing.
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Figure 6.8: English alphabet and 2D Fourier transform absolute squares.
Straight lines transform to perpendicular lines, like the far-field diffraction pat-
terns of long slits.
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Mathematica Fourier

* Fourier Series
L=2rx; (» period )
s[x_1=S uareWave[l{ 1, 1} i]'
_1 =39 > s > 113

Plot[s[x], {x, -3 7, 37}, Filling » Axis, ImageSize » Small]

FourierSinSeries[s[x], X, 22, FourierParameters » {0, x/1}]

. 4 . 4 . 4 . 4 . 4 .
4Sin[x] + = Sin[3x] + =Sin[5x] + = Sin[7x] + = Sin[9x] + — Sin[11l x]
3 5 7 9 11

'\/ 2 /1 FourierSinCoefficient[s[x], X, n, FourierParameters -» {0, nw/ 1}]

8Cos["7"] S1'n["4—"}2
n

 Fourier Transform

brx ] 1 UnitBo [ - ]
x_] := — UnitBox| —
- 2 2

Plot[b[x], {x, -3 7, 3x}, Filling » Axis, ImageSize » Small]

0.15
0.10

0.05

bTilde[k_] = FourierTransform[b[x], x, k]

Sinc[k )

Var

Plot[bTilde[k], {k, -3 w, 3}, ImageSize » Small, PlotRange - All]




Chapter 6. Fourier Analysis 113

Worked Problem

1. Find a Fourier sine series for a square wave of unit amplitude and period
(and check the fundamental term).

fae—1

fao—o

fae—s

flz]

A dr\/> sin [nr 7| £1e] = V3 / e sin ] fla]

_ 3 ( / Yt sim ] (1) 4 /l " e sin ] (-1))

/2

1
cos [nmz]
( 1/2>

1 — cos n7r/2 + cos [nm] — cos [n7/2]
nm

cos [nmx]

nm

1— 2cos| n7r/2] + cos [n7r]>

™

2m —1

=
(12005 mm +Cos[2m7r]> B V2 (1 (1)m)
-

m
1—2cos[(2m — 1)7/2] + cos[(2m — 1)m >

ni_c:l \/gsin {mr%} fn = \/inij:l sin [nwz] fr

4 i 1 — 2cos [nm/2] + cos [n7] sin [nma]
2 n

n=1
4 i 1—(=1)™ sin[m27rz]
™ 2 m

m=1
éism (20 —1)2mz] 4 i sin [k 27z]
0 20 -1 T k

(=1 kodd
sin [67z] n sin [107mz] n

3 5

>~

= <sin [27z] +

3
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Problems

1. Simplify the following by removing the deltas.

. —
(d Z mn (Hint: 2 cases.)
(e) /7 d:r 5[3:7 y] (Hint: 2 cases.)
1 0
2. For base states |1) = and |2) = , find the following.
0 1

(a) Matrix representations for the projectors P, = |1)(1], P, =

x x
(b) Projections Py and P,

Y Y

(c) Projections squared P? and PZ. Compare to P; and Ps.

(d) Projections summed Py + P> = )", [n)(n|.

3. Verify the “Big 4” Fourier examples.

12) (2.

(a) Using Eq. and Eq. find the Fourier series of the Eq.

square wave function.

(b) Using Eq. and Eq. find the Fourier series of the Eq.

sawtooth function.

(¢) Using Eq. find the Fourier transform of the Eq. Gaussian

function.

(d) Using Eq. [6.36] find the Fourier transform of the Eq. boxcar

function.
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The Wave Equation

Compare the D’Alembert and Fourier solutions for the motion of a plucked
string.

%{ Tz + dx]

r z+dr

Figure 7.1: Small amplitude wave on a string moving right.

7.1 Derivation

Let y[z, ] be the height of an ideal string at position x and time t. Assume the
string has tension T'[x] and linear density p. For small oscillations, string points
move approximately vertically and the slopes of the string are small. Consider
an infinitesimal string element of length dx, as in Fig. Since the string only
moves vertically, Newton’s second law

—

dm i = dF (7.1)

115
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implies

0 =dF, = T[x + dx] cos 0]z + dx] — T[z] cos 0[z], (7.2a)
(pdx)j = dFy = Tz + dx]sin §[x + dz] — T'[z] sin 0]z], (7.2b)

where tanf = dy/O0x is the small angle the string makes with the horizontal.
The first equation implies

T[x + dx] cos O[x + dx] = T[x] cosO[z] = T, (7.3)

where 7 is a constant tension, and hence the second equation implies

d?’@ = 7 (tan @[z + dz] — tan [x])
pdisy =T x + dx x
ay/ax‘m—&-d,’z: B ay/ax‘m
=T dx
0%y
= T@dl‘ (7.4)
or , ,
1 0% 0%y
Eor o (75)

where the constant wave speed ¢ = +/7/p. The second time derivative of
the string displacement is proportional to the second space derivative. As a

mnemonic, the denominator contains ¢?t?> = 22 or ¢t = z.

7.2 D’Alembert Solution

If the string has height h at space s and time ¢, then y[x,t] = h[s,t], and the
wave equation becomes
282h = 02h. (7.6)

The general solution of this partial differential equation, which is second-
order in both space and time, is a superposition of waves moving in both direc-
tions,

hls,t] = hyls + ct] + h_[s — ct], (7.7)
where h[z] are arbitrary functions. To check, the chain rule implies
Othils £ ct] = h'[s £ ct] Oy (s + ct) = £ch'[s + ct], (7.8)

and so
DPhalsEtct] = h'[s£ct] = 202 hs[s £ ct]. (7.9)

The Eq. [7.7] general solution means the string’s initial shape

ho[s] = h[s,0] = hy[s] + h_[s], (7.10)
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and its initial motion

vo[s] = O¢h[s, ]

i = +ch/, [s] — ch’_[s]. (7.11)

Combine the initial shape with the integral of the initial motion

/ Cds “06[5} — hyls] = h_[s] (7.12)
to find ) . ~
hels] = 5 (ho[s] + / ds “"C[S]> , (7.13)

where r is an arbitrary reference point. The Eq. general solution becomes
the d’Alembert solution

hls,t] = hy[s+ct] + h_[s — ct]

= % (ho[s + ct] + ho[s — ct]) + % /:Jrct ds Uo[g], (7.14)

—ct

where the integral is over the past light cone [6]. For a string started at rest,
vo[s] = 0, so the string’s shape

hols + ct] + ho[s — ct]
2

hls,t] = (7.15)
is simply the average of the right and left copies of the initial shape.

Figure[7.2illustrates the motion of an infinite string that is plucked or stuck.
Multiple phantom pulses can superpose with real pulses to create fixed or free
boundaries to model finite strings, as in Fig. |[7.3] Figure illustrates the
motion of a finite string fixed at two ends that is asymmetrically plucked. The
string consists always of straight line segments.
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Figure 7.2: Position (solid blue) and vertical velocity (dashed gold) of an ideal

string plucked (left) and struck (right) by the d’Alembert solution.
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Figure 7.3: Phantom pulses (in gray area) can superpose real pulses to synthesize
fixed (left) and free (right) boundary conditions.
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m

Figure 7.4: Plucked string fixed at two ends vibrates in three straight line seg-
ments (in white area) by the d’Alembert solution with phantom pulses enforcing
the boundary conditions (in the gray area).
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7.3 Fourier Solution

Check the d’Alembert solution with a Fourier solution. Assume the string has
length L and is plucked to a height h at the point aL, as in Fig. Virtually
extend the shape antisymmetrically across the origin to facilitate a Fourier sine
series. Integrating by parts, the Eq. Fourier coefficients are

hn—/LdS\/Esin mri f[s}
= \/7/ ds sin nﬂ' \/7/ ds sin mr ] (hLL—ojL>

hv/2L sm[mra]

= 7.16
m2a(ae—1) n2 (7.16)
so the Eq. Fourier sine series is
> /2
= ; 7 sin {mr%} h
2h = $7 sin[nmwal
- 7m2a(l — @) ;sm [nﬂf} n?
3 sin[ra] sin { i}
- m2a(l - Q) d "
in|2
78111[47“1] sin {271'%}
3] 3
7&111[9%04] sin |:37T%:|
sinfdral . s
—1  Sin [4Wf} +o- ) (7.17)
Substitute the normal mode oscillation
n[s,t] = asin ks coswt (7.18)
into the Eq. wave equation to find the dispersion(less) relation
w = ke. (7.19)

Since the spatial frequencies are 27/\,, = k,, = nn/L, the temporal frequen-
cies 27/T,, = w, = knc = nwc/L, where )\, and T,, are the corresponding
wavelengths and periods. Given the initial shape

= \/zi hy sink,s = h[s], (7.20)

n=1

the time evolution is

2 oo
his,t] =4/ I Z hy, sin k,, s cos wyt
n=1
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B 2h i sin[nma) | [ s] [ ct] (721)
ol =) 2 oz Sin nm | cos \nm— | .
with each mode oscillating at its own frequency, as in Fig. where the su-
perposition of even the first two modes does a decent job of representing the
dynamics. Since the nth harmonic oscillates n times per period, T,, = nTy, the
motion displays the expected symmetries

h[L — s,t +T1/2] = —hls, t], (7.22a)
hls,t +T1] = h[s, t]. (7.22Db)

Figure 7.5: Fourier analysis of the plucked string oscillating. Dashed lines
represent first two (left) and three (right) modes; solid lines represent the sum
of the modes. The antisymmetric extension (gray area) enables sinusoids to
synthesize the motion.
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Mathematica Wave Equation

« Algebraic DSolve

yO[x_] :=UnitBox[x]
vO[x_ ] :=

ys = DSolveValue|{
Be, ey [X, t] = c? e kY [X, t], (+ EIpdETR_t -» O¢ *)
yI[X, 0] = y0[x], dey[X, t] = vO[X] /. t >0},
Yy {X, t}];

Plot[ys[x, 1/2] /.c>»1, {x, -3, 3}, PlotRange -» {0, 1},
Filling - Bottom, AspectRatio » 1/ 3, Frame - True]

1.0
0.8
0.6

0.4

0.2

0.0

-3 -2 -1 0 1 2 3

* Numerical NDSolve

yO[x_] :=UnitTriangle[x]
vO[x ] :=

ys = NDSolvevalue|{
Be,eY[Xy t] = c?dy,xy[X, t] /o C 1,
y[x, 0] ==yO[x], O¢y[x, t] ==VO[Xx] /. t>0,
y[-1, t] =0, y[1, t] =0},
y, {x, -1, 1}, {t, 0, 2},
Method » {"MethodOfLines",
"SpatialDiscretization" »
{"TensorProductGrid", "MaxPoints" -» 400, "MinPoints" -» 400,
"pifferenceOrder" » 1}}] // Quiet;

Plot[ys[x, 1/2] /.c=»2, {x, -1, 1}, PlotRange » {-1, 1},
Filling » Axis, AspectRatio -» 1/ 3, Frame » True]

1.0

0.5}
0.0}

-05}f

-1.0bL : - : :
-1.0 -05 0.0 0.5 1.0
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Problems

1. Verify the Eq. Fourier series representation of the asymmetrically
plucked string.

2. Use the Eq. [7.21] Fourier analysis to verify the Eq. plucked string
symmetries.
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State Space

The nature of differential flows in states space depends critically on the number
of dimensions and the the fixed point structure of the velocity field.

Figure 8.1: Initial value problem existence and uniqueness mean that (red and
blue) state space trajectories never cross, as in these 2D and 3D examples.

8.1 Existence & Uniqueness

For the initial value problem

T =w, (8.1a)
x[0] = zo, (8.1b)

125
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a solution z[t] exists if the velocity v[z,t] is continuous, and that solution is
unique if the velocity gradient dv/dz is continuous. In such cases, and in higher
dimensions, the initial value problem

Il
<y

:
X

(0]

) (8.2a)
05 (8.2b)

!

generates state space trajectories Z[t] that never cross, as in Fig. This in-
cludes higher-order initial value problems in mechanics, where Newton’s second-
order differential equation

F=a, =F;/m (8.3)

is equivalent to the two first-order differential equations

P (8.4a)
Uy = ap = Fy/m, (8.4b)

which govern a flow in the 2D state space {x, v, }. The single nonautonomous
second-order differential equation

i =kr — kx> — i+ Acoswt (8.5)

describes the damped, forced, nonlinear Duffing oscillator and is equivalent to
the three autonomous first-order differential equations

& = vy, (8.6a)
vy =k — kK'2® — yv, + Acosp, (8.6b)
Y =uw, (8.6¢)

which govern a flow in the 3D state space {z, v,, ©}.

Uniqueness means that different state space trajectories (or initial value
problem solutions) never cross. In 1D, the fixed points of zero velocity separate
the state space into noncommunicating regions. In 2D, fixed points and closed-
trajectory limit cycles organize the states space. In 3D and higher, sufficient
space exists for fractal or strange attractors.

8.2 Fixed Points

If 7. = {x.,y«} is a fixed or stationary point of a state space the 2D state space
flow ]
7 = 9[F], (8.7)

then @[F,] = 0. By power series expansion, nearby

o[ = Tl7.] + g—;- (F=7) 4 s (8.8a)

(F—7) =7 =~ 0+J(F—7), (8.8b)
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oF ~ JOF, (8.8¢)

where the Jacobian matrix of partial derivatives

Ovg/0x vy /O
| OvalOw Ou/Oy | (8.9)
Ovy [0z Ovy /Oy

evaluated at the fixed point, represents the linearizaton of the state space flow
there. Near the fixed point, assume exponential motion

6F = 67pe (8.10)
so the Eq. [8.8c linearized flow implies the eigen equation
ATy = JoTg (8.11)

and the general solution

A A

o = c1e 1t1_}'1 + coe 2t172, (812)

where A, and v,, are the eigenvalues and eigenvectors of the Jacobian matrix
and the constants ¢,, depend on the initial conditions.

8.3 Predator & Prey

As an example, consider the Lotka-Volterra predator-prey model

T = FkT — Cgry = +(Ky — Y7, (8.13a)
Y= —kyy +cyzy = —(ky — cyT)y, (8.13b)

where x is the normalized number of rabbits and y is the normalized number
of foxes, for positive decay and coupling constants s, Ky, Cz,cy. Without the
2y nonlinear coupling terms, the rabbit population will increase exponentially
at the rate %, (due to no predation) and the fox population will decrease expo-
nentially at the rate , (due to no food).

Qualitatively construct the state space solution to this system of nonlinear
differential equations by identifying the fixed points and the linearized flow
about them. The velocity field

+(Ke — C2Y )T
7= (ke = czy) (8.14)
—(ky — cya)y
vanishes at the fixed points
. 0
7 = (8.15)
0




Chapter 8. State Space 128

number of foxes y

number of rabbits x

Figure 8.2: Saddle fixed point (1) and center fixed point (2) organize the state
space flow for the Lotka-Volterra predator-prey model. The fox population
grows as foxes eat rabbits until the rabbit population collapses causing foxes to
starve, which allows the rabbit population to recover, and so on cyclically.

and
Ky /C
P = v/ : (8.16)
Kz /Cx
The Jacobian matrix
ox/0x 0x/0 Ky — Cg —CyT
g—| 2%/ /% |_ Y (8.17)
0y/0x  0y/0y cyy —Ky + CyT
evaluated at the fixed points is
Ko 0
Ji = (8.18)
0 —ky
and
0 —KyCy/Cy
Jy = . (8.19)
KaCy/Ca 0

At the first fixed point, the Jacobi eigenvalues are simply
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/\1+ = +kyg,

)\1_ = —Ry,

and the corresponding eigenvectors

. 1
V14 = 5
0
R 0
(O
1

The Eq. superposition implies the linearized motion

—

ory = cl+e’\1+t171+ +oe_eMtg

1 0
=z etr=t + 5y et
0 1
dz etret
5y efnyt

which describes the saddle point in Fig. [8.2
At the second fixed point, the Jacobi eigenvalues are

>\2+ = +’LOJ,

)\2_ = —Ww

and the corresponding eigenvectors

. +1e€

Va2t = 9
1

. —1€

V2 = )
1

where the constant combinations

W = /KzKy,
Coley _ Co [Ry

B \/I{z//ﬁ}y_cy Hr.

€

(8.20a)
(8.20b)

(8.21a)

(8.21D)

(8.22)

(8.23a)
(8.23b)

(8.24a)

(8.24b)

(8.25a)

(8.25b)
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The Eq. superposition implies the linearized motion
th = CQ+6)\2+t172+ + 02_6)\2715172_
—idxfe+0y| +ie | L., +idxfe+0y| —ie | ;.
=—Y- e _— e
2 1 2 1
coswt 6z — sinwt Jy €
sinwt dx/e 4+ coswt dy
0 e coswt  sinwt 0 e | oz (8.26)
1/v/e 0 —sinwt coswt || 1/y/e 0 dy ’ .

which describes the clockwise center point in Fig. |8.2l The imaginary eigen-
values conspire with the imaginary eigenvectors and complex superposition co-

efficients to generate a real trajectory from real initial conditions.

The saddle and center points organize the Lotka-Volterra predator-prey state
space. The fox population grows as foxes eat rabbits. But when the rabbit pop-
ulation collapses, the foxes starve. With few foxes around, the rabbit population

rapidly recovers. The cycle continues, as it does in some ecosystems.
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Mathematica State Space

Manipulate[StreamPlot[{y, x - a x’}, {x, -3, 3}, {y, -3, 3},

StreamScale » 0.2, StreamStyle -» "Dart", StreamColorFunction - color,

ImageSize » Smal'l.] , {{color, "Rainbow"}, ColorData["Gradients"]},

{{a, 1}, -3, 3)]

color Rainbow a
a
3 RN ——
\ N
2 RN
TN
1 AN
IR \\._\\\:’
| AN
0 ' ‘1 (G
1 yr!"/ T~
-1 er’
-

. 1
wec[x , y ] := {y, -Sin[x] - ;y};
sPlot = StreamPlot[vVec[x, vy], {x, -4, 4}, {y, -3, 3},
StreamStyle - Gray, FrameTicks -» None, ImageSize » Small];
Manipulate[s = First@NDSolve[{
{x'[t], y'[t]} = vWec[x[t], y[t]] // Thread,
{x[0], y[0]} = pl // Thread
}s (X, ¥}, {t, 0, T}];
pPlot = ParametricPlot[{x[t], y[t]} /. s // Evaluate, {t, 0, T},
PlotStyle -» Directive[Thickness[0.01], Red]];
Show[sPlot, pPlot], {{T, 30}, 1, 160}, {{pl, {2, 06.5}}, Locator}]
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Problems

1. Verify the eigenvalues and eigenvectors for the fixed points in the Eq.
Lotka-Volterra predator-prey model.

2. Geometrically interpret the Eq. saddle trajectories and the Eq.
center trajectories.



Appendix A

Practice Exams

Three practice exams follow.

133
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Practice Exam 1

1. Given the complex numbers z; = 3 + 27 and 2o = 1 — 7, compute the
following.

(a) 2

(b) |z1]

(c) 221 + 329

(d) Z1%2

2. Given the complex numbers z; = V2ei™/4 and 2z = 2 — 1, compute the
following.

3. Use complex numbers to rotate the the 2D vector {1,2} counterclockwise
45°. (Express the components of the rotated vector using numbers and
square roots.)

4. Given the imaginary quaternions o = i — j = @y and 0y = 3) + 2k = ¥,
compute the following.
(a) ¥ - U2 (Dot multiply the basis quaternions.)

(b) U1 x ¥ (Cross multiply the basis quaternions.)
5. Given the 4D quaternions ¢; = 1 +i43j+ 3k and o = 1 — i + 2j — k,
compute the following.
(a) 3¢1 + 242
(b) @142
(¢) G2

6. Given the 4D quaternions ¢ = 1 — 17 — k and go =1+ 27— 3]2:, compute
the following.

(a) 2¢1 — 342
(b) G142
() G2
7. Use quaternions to rotate the the 3D vector {0,1,—1} counterclockwise

90° about the direction {1/v/2,1/4/2,0}. (Express the components of the
rotated vector using numbers and square roots.)
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8. Use quaternions to combine a 90° rotation about the direction {1/1/3,/2/3,0}
with a 90° rotation about the direction {,/1/3,0,/2/3}.

-1 2 3 3 0 2
9. ForA=| 2 2 1 |&B=|1 2 -1 |, compute the following.
0 2 -1 1 2 0
(a) 2A+ 3B
(b) AB
(¢) BA
1 -1 3 1 2 3
10. ForA=| —1 2 1 |&B=| 3 2 —1 |, compute the following.
2 2 -1 -3 2 2
(a) 3A—2B
(b) AB
(c) BA
-1 3 0 2t
11. For U = &V = , compute the following.
3t 1 -2 3
(a) 3U — 2V
(b) UV
(¢c) VU
-1
12. For A=| 1 2 3 |& B=| 1 | compute the following.
2
(a) AB
(b) BA

13. Use matrices to rotate the the 3D vector {1,2,3} counterclockwise 30°
about the direction {0,0,1}.

14. Use matrices to rotate the the 3D vector {1,2,—1} counterclockwise 45°
about the direction y-axis.
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Practice Exam 2

1. For each real matrix R, compute R”, det R, tr R, R~ .

1 2
(a) R =
-1 4
-1 2
(b) R =
-1 1
1 2 -1
(c)R=l0 2 2
11 2

2. For each complex matrix C, compute CT, det C, trC, C~1.

21 0
(a) C=

!

21 1
(b) C =

1 —

4. For each one-dimensional arrangement of 3 point masses connected by 4
springs to each other and to 2 fixed walls, find the normal mode frequencies
and shapes.

(a) The center mass is heavier: The points have masses m, 4m/3, m,
and all the springs have stiffness s.

(b) The wall springs are stiffer: The points all have masses m, and the
springs have stiffnesses 2s, s, s, 2s.
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5. Model a 3-state quantum system by the Hamiltonian

1 2 0
H=E)| 2 1 0 | (A1)
0 0 2

(a) Find the allowed energies.
(b) Find the stationary states.
(c) If the system is initially in the state

1Y) = [¥o) =| 0 | (A.2)

what is its state |&) = [¢;) at a later time?
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Practice Exam 3

1. Use complex numbers to rotate the the 2D vector {2, —1} counterclockwise
30°. (Express the components of the rotated vector using numbers and
square roots.)

2. Given the 4D quaternions ¢y =1—j— k and G=1—7— 3k, compute the

following.

(a) 3q1 — 2qo

(b) q1G2
(€) Goga

3. Use quaternions to rotate the the 3D vector {1,1,—1} counterclockwise
90° about the direction {1/v/2,0,1/v/2}. (Express the components of the

rotated vector using numbers and square roots.)

4. For A =

-2
1

2
2
0

5. For A =

(a) AB
(b) BA

1

—1 |, compute the following.

0

1 2 0
1 |[&B=|1 0
-1 1 2
-1
& B=| 2
1

. compute the following.

6. Use matrices to rotate the the 3D vector {1,2,3} counterclockwise 60°
about the direction {1,0,0}.

21

7. For the complex matrix C =| —q

0

0 1
1 2
11

, compute the following.
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8. For the complex matrix C' = , compute the following.

(a) Eigenvalues.
(b) Normalized eigenvectors.

9. For the one-dimensional arrangement of 2 point of masses m, 2m con-
nected by 3 springs of stiffnesses s, 2s s to each other and to 2 fixed walls,
compute the following.

(a) Normal modes frequencies.

(b) Normal mode shapes.

10. Given the Hamiltonian H = Ej , compute the following.
3 1

(a) Allowed energies.

(b) Stationary states. .
1
(¢) Future evolution from the state |1g) = —

V2|1

11. Find a Fourier sine series for the following triangle wave.

0 /2 T  3n/2 2orm

12. Find the Fourier transform of the exponential function e~ *!.
13. For the Duffing flow
T =y,
j=z—a°,
compute the following.

Fixed points.

(a)

(b) Fixed point eigenvalues.
) Fixed point eigenvectors.
)

Sketch a vector field illustrating the global state space flow consistent
with the linearized flow about the fixed points.
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Appendix B

Notation

Table[B.1]summarizes the symbols of this text. Some symbols are more universal
than others.

Table B.1: Symbols used in this text.

Quantity Symbol Alternates
vector U,7,v v, v, |v)
unit vector U, Uy U 0, €y, U
square matrix M, ﬁ, M, ]\Di M, M
complex numbers z=x+ty ={z,y} T+ 1y
quaternion i =0+ 7= {40, 7} a0,Q

unit quaternions 1,7, k i,7,k, 1,j,k
Pauli (spin) matrices Oz, 0y, 0 o1,02,03
Derivatives &, dz/dt, Oy x'[t]

Fourier transform pairs x[t] < Z[f] flz] & Fk]

Standard mathematics notation suffers from a serious ambiguity involving
parentheses. In particular, parentheses can be used to denote multiplication, as
in a(b+ ¢) = ab+ ac and f(g) = fg, or they can be used to denote functions
evaluated at arguments, as in f(t) and g(b+c¢). It can be a struggle to determine
the intended meaning from context.

To avoid ambiguity, this text always uses round parentheses (o) to group
for multiplication and square brackets [e] to list function arguments. Thus,
a(b) = ab denotes the product of two factors a and b, while f[z] denotes a
function f evaluated at an argument x. Mathematica [T] employs the same
convention.
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